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Suk-Seition Nusber | 1

fuk-Sectian Id; 1317115

GQuestion Sraulfling Allowed - L]

I Fectan Defasli? : =l

Q von Nussiber : 1 mirh Id - 154P074ETE Quetatsen Type - MO Option Bafihing - Yea

Déspley Question Mumber : Yes 1s Question Mandstary - Mo Caltulatnr - Nens Resgease Tims
: HLA& Think Tiree : NLA Binimus Instructien Time ;0
Carrect Marks : 1 Wrong Marka : §

LI | -
Led = e HA =&« Bl where | is the 2 x 2 identiy

malne, hen o, @) =
Dptions ;

(5. 7}

=5, -'i"]

=5,

=T
“,15 |

uestion Husibes | 2 Question bd | 1583074817 Questesn Type : MOQ Option Shulng - Tes
Displey Question Mumber : Yes Is Question Mandstory : No Celoulaenr : None Respasse Time
< HLA Think Tirse : KA ilinimum Instructiss Time -0

Carrece Miasks | 1 Wrang Marks : §



If(a+bee)=5 then

fa-b—e b 2o
det da b-¢-a o |-
W B e

25

3o 15

625

Guestion Numiber : 3 Queston Id - 1555004818 Queston Type © MCQ Oprion Skaulfling - Tes
[expley Choestion Mumber - Yes |y Guestion Mandstory - Mo Celoulator - Nore Resgaese Time
= MLA& Thyink Tirme ; M4 kinimum Imstructizn Time : 0

Correct Marks: 1 Wrong Marks:
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Cipikores :
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52

Quesazion Number : £ Guestion b : 152074819 Questeon Type : MCQ Option Shuffling : e
[eaplay Question Mumber - Yes 1s Quession Mandatary - Mo Caloutatn: - Nore Resganse Time
* MLA Thank Tirme : MU& Minimum Tnesruction Time ;0

Correct Marks | 7 Wrong Marks . B

if logy walow, valogx=", thenx =
Cptions :

18

o n 128

Guestion Number : § Guestion bd - 1352074500 Queston Type - MG Option Shaffling - Tes
Bespley Cuestion Nember - Yes Is Gusstion Mandatory - Mo Calculator - Nore Besporse Tims
7 HL.& Thenk Tiree ; NL& mimusn Insgructoen Times ; 0

Correct Marks : 1 Wrong Marks: &



H%:r_'-tl+ [ then 104+ 8+32C=

Diptiona ;

.0 B

11

4 &

Question Nusmiber : & Question Id : 1552074821 Questeon Type - MO Option Shuling - Fes
Dimplary Question Masmber - ¥es |s Guestion Mandastory © No Celoutstor @ Nome Beiponse Time
= ML& Thank Tirse : KL inimum Instructisn Time : 0

Correet Marks | 1 Wrong Marks: 3

Hlogs (3x*+ 10xj =3, han x =

Options:
|
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Question Numsber : 7 Juestion bd : 1582078822 Questsen Type : MO0 Option Shufflng - Ve
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Marks ; 1 Wrong Marks: §
Tre valoe of 2in” 457 + 2™ 135° + 0™ 2257 + s 515° 45

]
4
=3

Question Numiber ; § Quaestion Bd : 1583074523 Question Type - MO Option Safflng - Yeu
Desplay Question Mumber : Yes I Question Mandatary - Mo Cakouletar - None Reagesae Time
2 HLA Thank Tirss : NLA Minimus Instruotnss Time 0

Eorrect Marks ; 1 Wrong Marks ; §

rn:.mEE.rra=5.h=-Hr-dmA=L' than thié angle B =



5] fon Number : 9 0 mn Bd - 1582078524 Questsen Type - MO Option Skuffling : Ves
Diapley Question Mumber | Yes Is Question Mandseary - Mo Celoulatar - Nert Resgesse Time
< MLA Think Times : BLA imimum Insructian Time G

Correct Marks : 1 Wrong Marks: §

st 38 —an 180 =

Dptiona :

a

Queation Nusber : 10 Queation Id : 1587425 Question Type : MO0 Optien Shofflang - Yes
Display Question Momber . Yes Is Question Mandstary - Mo Celoulstor | Nome Resgesse Time
= MLA Thisnk Timee : BLA blinimum Instruoten Time 0

Correct Marks : 1 Wrong Marks: §



The perod of the funclion :m|- } lsin) -"I’-‘ Fa :in:' : el "J" s
Diptions :
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Question Nusmber . 11 Question 1d : 130207 H2E Questian Type : MOQ Dptia Shalflang - Tes
Démprlary Queestion Masmber - Yoy 1s Question Mandatory © Mo Celoutstor @ Nome B=sponse Time
= MLA Thank Tirse : ML linimum Instruchsn Time : 0

Correct Marks | 1 Wrong Marks . 3

o oorsh = j.wun cathZx =



Q ion Number: 120 ion Id : 1507 1T Qemtion: Type : BMOQ Dpten Shaffng - Yes
Displey Question Mosnber | Yes Is Question Mandatary . Mo Caleudstor . Mems Resgesse Time
2 MLA Thenk Tirmee : MLA linimumn Instruotien Time :0

Carrect Marks ; 1 Wrong Marks ; §

The medulus of the complex numbes
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Question Number : 13 Question 1d : 1592074828 Question Type : MCO Optien Shufflng - Yes
Trspley Chorstion Mssmber - Yo by Cuestion Mandatary : No Caloulator - Normr RBesgemse Time
: HLA Thank Tiree : NLA Wfinimusn Instructisn Time : 0

Correct Marks : 1 Wrong Marks: &

Wihe sdes of 4 ifangle are 13,7 and &, hen ihe greaiest angle of

the Tange is

Dptions ;
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Question Nusier : 14 Question 1d : 1592074828 Question Type : WOQ Opthen STy - Yo
Despley Question Number - ¥es 1s Question Mandatary © No Cekculator @ Nome Resgasse Tima
+ MLA& Thank Tirme : K& Winimus Insructisn Time <0
Correct Marks : 1 Wrong Marka : )

If the angles of 3 trangle 30 in the ratio of 1-4:5 | fen fhe raio

of the greates! side {2 the emalest sids (s

Dptiana
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Quention Number ; 15 Question Id ; 150H0EE0 Question Type : MOQ Optien Shoffng - Yes
Dizplay Question Mumber - Yoz In Gusstion Mandatzey - Mo Caloulatar : Mors Bmageaer Time
= MLA Thianik: Tirme : LA Winimism Instruction Time ;0

Carrect Marks ; 1 Wrong Marks: §

Mumber of tangents dravwn al a point of the circls |=

Dptiona :
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Question Number : 18 Question 1d : 1392074831 Question Type : MOQ Optien Shaffling - e
Displey Gwrstion Marmber - Ve Is Question Mandatory @ No Celoulator - Norr Resgomoe Time
: HLA Thank Tiree : MUA Whinimumsn Inatructien Time : 0

Correct Marks : 1 Wrong Marks: &

The minkmem valus of Mxl =le -2+ |r= 2|15

Dptiona :
0

]
%
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Question Numsiber | T7 Question Id | 130207431 GQueation Type | MDD Dptea ShalTlang - Yes
Démplay Question Mumber - Yes 1s Question Mandatory - Mo Caloulstor © None Respasse Time
= ML Theink Tirnee ; BLA blimimum Instructsn Time :§

Correct Mavks : 1 Wrong Marks: B

The sccenineity of ellipsa 'i - 1: Iis

Dptions ;
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Question Numiber : 18 Question 1d | 7383074833 Question Type | MO Optien Shaffling - Yes
Dmply Cuestion Mumber - Ve Is Question Mandstory © Mo Celculator - Nore Bergame Tims
7 BLA Thank Tiree : MU Wimimum Instructios Time ;0

Correct Mavks | 1 Wromg Marks: 9
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{12 =

Dptions ;

(1%
| _

Question Nwwmber ; 19 Question Id ; 1582070834 Quetion Type : BMOQ Optien Shafflng - Y
Displey Question Musnber  Ves Is Question Mandatory - Mo Celeulater . Ners Desgesse Time
2 MLA Thark Timws : BLA IR imus Inseruotes Tims (0

Correct Marks ; 1 Wrong Marks: 3



Dptians ;
_Il-r-~."1_
I i i
ll.m-q";
T B ‘ 1||r'._
1wl
R ==

I.I.“--l":
"b:l;.l

Pod =

Gu=stion Number : 3 Question 1d : 1352074835 Question Type : MO0 Opbion Shaffing - e
impley Cuesbon Mumber - Yes | Gusstion Mandatory © No Celcuiator - Nore Besgamse Time
- L& Think Tirme : BUA bfinimuym Imtruction Time - 0

Correct Marks : 1 Wrong Marks : §

If x = 208t = cos2t, y = 28inl = sin2L, then E at :1-: s

Ciptions ;



Question Number : 71 Question 14 | 138207438 Question Type | MO0 Optien Shuffleg - Yes
Dmpley Question Mamber : Yes s Question Mandatory - No Calculator - Nore Respoese Time
= L& Thiank Tirrwe : KL bimimum Instructen Time ;0

Correct Marks | 1 Wrong Marks . B

I y = com i+ i), then z =

Dpsons
l=sinfx =¥}
TN+ sy
‘]
L4siniz ey
3 R —E05 Y
ok %= ¥y
g = l=amlz-yl

L=smix+ )
v



Question Nusber : 11 Question Id ; 1SEXFTEIT Juestion Type : BOQ Optien Shoflling - Ye
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Carrect Mlarks : 1 Wrong Marks: §

The eguation of fangent o the curve xp = 1B at P (4, 4] is
Ditisns :

g KEey=3

g XFE w4
v E+y=h

reymif

Question Nusber : 13 Guestion Id ; 15020708 3E Qeeston Type : MOQ Dipten Shafflang - Yes
Deplay Question Mumber - Yes Ta Question Mandatory © Mo Celculstor : Nere Benpeos Time
- HLA Thank Tirses - MLA Winimus Instsuctiss Time ;0

Correct Marks : 1 Wrong Marks - §

4
The maimism value of §x)= (=] is
q4



1Yy

Ry

g*

Question Number : 34 Question 1d : 158207638 Quertion Type : MO0 Dptien Shoffing - Yes
Dapluy Dustion Mwmber : Yeu In Cusmtion Mandstory © Mo Celoolator : Nors Bvspoeas Tims
= MLA Thank Tirmes : NLA Bmnimue Instruotes Tims 10

Correct Macks : 1 Wrong Marks - §

Hu (e, y, 215 109 (3% =y o -Tnga), then : .: : ;. £
Dptions :
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i
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Question Number : 25 Question 1d : 1352074880 Question Type : MOQ Optien Shaffling - e
Displey Gwrstion Marmber - Ve Is Question Mandatory @ No Celoulator - Norr Resgomoe Time
: HLA Thank Tiree : MUA Whinimumsn Inatructien Time : 0

Correct Marks : 1 Wrong Marks: &

; e L e
Fuin yi= gl —L | . then x 2+ y— =
LN, i) ey B X :'f":’
Diptions :
4
&
3
r
1 ®
1
i &

Queation Number : 25 Queation Id : 1502074841 Question Type ;| MOQD Dpten Shaifling - Yes
Displey Queston Mummber © Yes 1s Question Mandazory © Mo Caloulstor @ Mome Respanse Time
< BLA Thsirk: Tirme - BLA Mlinimum Instructien Time ;0
Correct Madks | 1 Wreang Marka: B
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Optioma

b = cos(tan'x) + ¢

cosfian 'k} + ¢
> B



sinjtan-"s} + ¢

i — ailbme'x) + 2

5] 1ion Momsber - 27 0§ ion Id : 1500744] Question Type : MOQ Dpten Shoffeng - Yes
Displey Question Mumber - Yes I Question Mandansey - Mo Celeulstar - Norme Resgesse Time
7 ML& Thbnk Tirmes : MLA Minimum Insaruction Time ;0

Carrect Masks : 1 Wrong Marka : 3

Jote
ey

Dptians

og (e%+1) —0™" + ¢

Guestion Number : 38 Question Id : 13830744483 Guestion Type : M0G Sption Shaffling - es



Dspley Cheestion Mesmber : Ye3 |s Question Mandatory : No Calcufacor : None Respeese Time:
= HL& Think Tirer ; NLE inimum Instructisns Time ; 0
Correct Marks : 1 Wrong Marks: 3

)
The value of the integral [Sain | x| dr is

Diptkoiia :
s O

Question Number ; 39 Question 1d ; 1502070881 Geeston Type : MG Dipten Shafflng - Yes
Dizplay Cuestion Mumber : Yes Ia Question Mandatory - Mo Celculstor : Ners Beipesee Tims
- HLA Thiank Tirmee : NLA Winimush Instfuctiss Tims (0

Correct Rlarks - 1 Wrong Marks - §
The curves y = 18 = 4 and y = 1 = ' ipgether enclose an ansa of
Options :

1iyie
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Question Numiber ; 30 Question 1d | T33074845 Question Type | MO Optien Shffling - Yes
Dempley Cuestion Mumber - Ve Is Question Mandatory : Mo Celoulator - Mone Bespome Time
= HLA Think Tirnew : NL& lnimum Instructen Time : 0

Cornect Alarks : 1 Wrong Maris: &

The RME value af tha fixi = Jogs on[1. 8] is

Question Nuswber ; 31 Question Id ; 1502070886 Cheevbor Type ; MOD Diptisn Shoffng -Yes
Déaplay Queation Nuwmber : Yes Is Cusmation Mandatory © No Calculstor - Nors Besposas Time



2 MLA Thark Tirmes : SLE Blinimum Inssructben Time : 0
Correct Marks : 1 Wrong Marka : &

The sppreaimais walue of e inisgral II-_'-t-n- using Traperoidal
ruewihh=08 s

Options ;

0.5E450

0. 70834

| 067435

0.68500

Question Number : 32 Question Id ; 15804847 Question Type : MOQ Dptisn Shalffleng - Yea
Displey Question Mumber . Yea I3 Question Mandstary - No Celeulstar | Nere Resgesse Time
- MLA Treink Timez : NUA Binimum Inssructien Time @0

Carrect Marks : 1 Wrong Marks: B
The velocity of a Body as & fencion of e & given &

rir] Sr &4, wham t & 0 seconds and v i nomE The
sensieralion whent= S my’ s

Dption;

1oe®



Question Numsber : 13 Question 1d ; 1907MEE (eestion Type : MG Dptisn Sheffing - Yes
Dézplay Question Mumber - Yes s Question Mandstacy - Mo Caloulstor : Nore Bespame Tims
+ HLA Thiinik Tirme  NLA linimum Instruetion Time 10

Correct Marks : 1 Wrong Marks: 3

Tha order and degres of the diferental equation

¥
47

ey
Tt :..".} = ¥ = 0 respectively are

Diptiony ;
3 and 3

2and 2
2 and 3

2 and 1



Question Nusber : 3 Question Id ; 1502746 Juestion Type : BMOQ Optien Shoffling - Yes
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Carrect Marks : 1 Wrong Marks -
The general solution of pe'd =y -1d = i
Ciptrans ;

¢ oy e

=i
v lopr ow

f+1y=py=¢

Du=azion Nwmber : 33 Question 1d : 1592074850 Question Type : MO0 Dption Shufflng - Yes
Dempley Cwestion Mamber - Yes In Question Mandatory : Mo Celoulstor - Nore RBesgemee Time
: HLA Thank Tiree : MUA Winimus Instructien Time : 0

Correct Macks : 1 Wrong Marks - §

o
IF simx d—:—_‘.‘-l"-l:l#.'. X £inr. then {3 — 1 sy
Dptiona :
[ 2N
i X Sy
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Queszion Number : 38 Question 1d : 13820748351 Question Type : W00 Opthen Shuffsg - Yes
Démpley Question Mumber - Yes | Question Mandstory - Mo Celouistor - Nore Rergesse Time
= L& Thank: Tirrwe : KL bimimum Instructisn Time : 0

Correct Marks | 7 Wrong Marks . B

The soluticn of the differential egualion
(e | Dlcoszads o e¥sinerdy =005

Diptions :

[eF 4 1)plax = ¢
Lo

- I'IAHGI =r

@* = [ gy
L ]

"
Y

[t

i
-

o (&7 - V)siny

Question Nusber : 37 Question Id : 15807451 Question Type : MO0 Optien Shofflng - Yea
Dapley Question Mummber | ¥es 13 Question Mandstary © Mo Celeulatsr - Nare Resgease Time
- MLA Think: Tirmes : MLA mimumn Instructsen Time 10



Correct Marks: 1 Wrong Marks: &
The differential egualion sasfied by ¥ 1?- B, (AB are
paremelers] i

w g dw =1

1

i Py -2 =0

Cuention Number ; 38 Question 1d ; 150070857 Qumtion Type : MO Optien Shuffbng - Y
Displey Question Muornber - ¥ea Iz Question Mandatary . Mo Caliulater . Mers Reagease Tims
2 MLA Thenk Tirmee : RLA llinimum Inssyuotien Time :0

Carrect Marks ;: 1 Wrong Marks - §

The general solution of IuE[E] =3x+3vis



Q ion Number : 10 0O jon Id ; 15ETHE 5 Qusation Type : MCQ Diptin Shoffling - Yes
Desplay Ceestion Mumber - Yea Ia Guestion Mandatory - Mo Celzulstor - Noare Bespease Time
- MLA Thank Tirmee 2 SLA Sinimumn Insaructien Time 10

Carrect Marks : 1 Wrong Marka : §

Hridriprdy=rdyre Ry = band wf1}=1then ¥ -3 =

Diptiana ;

K A

Guestion Number : 4 Question 1d : 1392074858 Question Type : MO0 Option Shufflng - Yes
Dempley Question Mumber : Yes s Guestion Mandatory - No Celoulator : Nore Resgesse Time
+ HL& Tiank Tirew ; ML bliinimum Instructien Time ; 0

Correct Marks : 1 Wrong Marks: §



Lipadl — it} =
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pa (40}

Question Nusbes ; 41 Question 1S : 1502074856 Juestion: Type - MO Optien Shoffiing - Ve
Displey Question Mormber | Yes Is Question Mandatary . Mo Caltulator . Ners Resgease Tims
< LA Think Timee - BUA Bllinimusn Instructien Time 0

Correct Marks ; 1 Wrong Marks ; §

Lleesh 3 copdt] =

Dptions :

if &8 oo i 1
e - mal® o s luaidl



] =3 ik

w d e
ot =Gisll o +te=til

CQusstion Numsber : 82 Question Id ; 15EFE5T Question Type : MOG Dptean Shoffling - Yes
Dimpley Juestion Mumber  Yes Is Question Mandatory | Mo Celeulator @ Neme Respease Time
- WA Thadrk Tirmee ; LA inimus Instructen Time ;0

Correct Marks : 1 Wrong Marks: 3

L:"":r""“q'l =

Diptisns :

1 =i-r.-"|
= lug) e
2 Tla 4}
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T
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Q ton Nusmber : 43 0 ioni Id : 150074l Qusation Type : MOQ Dipten Shafflng - Vs
Dimpley Question Musmber | Yes 1s Question Mandseary - Mo Caloutarnr - Ners Resgease Tims
< MLA Think Tirmee : BL& Blinimumn Instructien Time ;0

Correct Madks : 1 Wrong Marka : &

The Lapince transtomm of [t = 1 &in t is Fl8) where Fis) e
Dptians :
1

va ) T

1

i€+

Question Nusmmbes | 44 Question Id | 150274855 Question Type | MDD Dptisn Shulflng - Yes
spley Question Mumber : Yes 1s Guestion Mandatory : Mo Calculator @ Nomse Resgasse Time
7+ ML& Tk Tirme : MUA Wimimums Instructien Time ;&

Correct Maiks 1 Wrong Marks: ¥
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Diptions :

Question Numsber ; d5 Question Id ; 1502070850 Gwevtion Type | BOQ Dipten Shafflang - Yes
Deplay Question Mammber - Yes In Question Mandetory - Mo Celsulstor - Nore Bspecae Tima
- HLA Thark Tiree . MLA Wi imus It uctosa Time . 0

Correct Marks : 1 Wrong Marks: §
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Question Numsises | 45 Question 1d | 150374861 Questian Type | MOQ Dpresa ShulTling - Yes
Démpley Question Member - Yes 1s Question Mandatory : No Caloulator © Mome Rezpanse Time
+ MA& Thank Tiree - BLA& inimum Instructopn Time : G

Correct Maiks : 1 Wrong Marks: &

The salution of he diferantal squation
Y =2y o+ 2= 0 satishing yili = yi0h=1 s
Diptions ;

.o ¥+ofcost

i?

L}
o o ® ost

Question Nember : £7 Question 1d - 139200842 Question Type - MEQ Optien Shuffiing - Yes
Demplay Qurstion Neenber : Yo Is (uetion Mandstory ; No Caloulatar : Nomy Resgeeae Time
+ HLA Thiank Tirmee : BLA Biinimuesn Instructicn Time : 0

Correct Marks : 1 Wrong Marks: §

The vaus o the Founer cosflicient 3: o the Fourner saret
ipansienof fxj=nsny mil 2=
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a

Question Number ; 48 Queszion 1d : 1992074843 Question Type | MO0 Opcien Shuffling - Yes
Dripley Cuesrion Nomber - Ve [t Question Mandarory - No Celoulstor - Nore Resgonse Time
: HLA& Thark Tirew : MU Hinimusn Instructies Time : 0
Corpect Marks : 1 Wrong Marks : §

¥ b by are Founer sosMicents in the Foutier series eaparsion of

fxizieneni=z z) hen b2 b =

|k

3
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Question Nwwber ; 48 Question 1d ; 1583070864 Question Type : BMOQ Optisn Shaffng - Yes
[empley Curshion Mamber » Yex In Cestion Mandstory - No Celcuistor - Nore Resgoose Time
- MLE Thenk Tiree : BLA inimuwen Inagructens Time : 0
Cornect Marks : 1 Wrong Marks - §

[ %% § =zaa+d

Atn= 0, the Spuwrer saree of fln =
0 ¥ DEm<s

COTErges Io

==

Question Number | 50 Question 1d : 1502074888 Question Type | MCQ Optien Shalflng - Ves
Dempley Guwestion Muember : Ve |s Guestion Mandatory - No Celodator : Nore Resgesse Time
- MLk Think Tirme : MLA Winimum Imstructisn Time ; 0

Correct Marks : 1 Wrong Marks: 0



L
Hu= 'j-; aycoinx. O < then the value of a; is

Diptions :

-

G
L
]
!
3 ]
a
&
]
Ll
i
4 &
Physics
Section hd - 15326785
Section Number - Fi
Sectien bype | Dwlime
Emndmtery ar Qgtend ; Mgy
Mumber of Questioms 28
Number of (pevtines to be attempted - F
Seeniom Marks - 5

Erakds Mark sz &mwerred Mark for Review and
Cles Rezgeree

i



el b i L8t it K Thahe - a

fub-fectian Number ; 1
Sub-Seition Id : 1558201
Gueetion Shauffling il lowed - o

1 Sevtien Delash? neill

Question Number : 31 Question 1d : 155207066 Gwestion Type | MG Optien Shaffling - Yes
Dempley Custion Mumnber - Yen Iy Question Mandstory - Mo Celculstor - Norme RBespoae Tims
- BLA Thank Tiree ; BLA Binimuen Iragructen Tire ; 0

Cornect Alarks : 1 Wrong Mariks - §
[ F Is foeee, & i cistasce 3nd 1= lime, then he dimensons

b-r

of :— in the equaton F e e same 3= that af
Dptions ;

Wekacity

Fatos

Marmentum

Time

Gumstion Nwwber : 52 Question Id ; 1583074867 Guestion Type : MO Optisn Shafflng - Yes
Demplay Qumtion Mumber : Yes Iy Question Mandatary - No Celculstor @ Nore RBeypeoae Time
- HLA& Thmnk Tirmew : BLA Miinimuen Tragtuctiosn Time : 0

Correct Marks : 1 Wrong Marks - §



The $1atic friction s
Dptions ;

Equal ta the dynamic frictan

Always greater than the dynamic friction

. 5 Abeays less than the dynamic friction

Sometimes less than and sometimes agual fo
dynamic friction

i

Question Nusmbes | 53 Queation 1d | 159274568 Question Type . MDD Dptisn Shulflang - Yes
Drmpley Question Number : Yes s Question Mandatory - Mo Celculator - Nome Respasoe Time
+ LA Thank Tirme: SUS Binimus Instructisn Time : 0

Correct Marks : 1 Wrong Marka: &

A vedity A points vertcally upeard and B points lowands
nairihy, the wactor preduct of B x Ais

Diptions :

&long west

3 » Hilong east

_ . Verticalty dowrward



4 » Nodirection

u] jon Number : 54 0 on Id : 1SRNITHEY (uestion Type | MOQ Dpten Shafflang - Yea
Deapley Question Mumber | Yes Is Question Mandatary - Mo Celoulstor - Neme Resgesse Time:
- LA Think Timee : BLA mimum Insructsn Time :§

Correct Marks : 1 Wrong Marks :

A Wector A has magniuds B2 unil bowards norhy ihe dinection

of yector -BA and BA |
Diptiona :
&7 units and 38 urils towards soulh

=27 unlts and 38 uni#s towards norh

-27 units towards sauth 2nd 36 units tewareds north

=27 unit= jowards west and 38 unils towards eas|

i =

Guestion Number : 35 Question Id : 15530787 Guestion Type : W00 Option Shatfiing - e
Demplay Chorstion Mormber - Yy In Question Mandastory - Mo Calouletor - Mors Reypooge Time
: ML& Thiank Tirme : 8.8 Minimum Instruction Time ;0

Correct Marks : 1 Wrong Marks: &

The Amgulyr dispiscement of a padicls | described s

8= di+ 3t°, the angular velecity (in rad'sec) att= 2 secis



16

14

Question Nuwsbes | 56 Question Id : 1502074871 Juestion Tyge : MO Optien Shoffing - Yes
Displey Question Mumber - ¥es 1s Guestion Mandatory - No Celoulator @ Nome Resposse Time
2 MLA Think Time : BUA ldimimum Insructen Time ;G

Correct Macks : 1 Wrong Marks : 3

The asosleralon of & car moving on & sirssghi road with s
cofestant vedoeity of 40 mised i

Dptiana :
30 mie?

2 mig?

0 mig*
]. -



40 /e

Question Mussbes | 57 Question 1d | 159374872 Question Type | MOQ Optien Sholflng - Yes
Despley Question Mamber - ¥es |s Guestion Mandatory © No Caloutator © None Respasse Time:
= MLA Think Tiree ; L& mimum Instructien Tims : 0

Carrect Masks : 1 Wrang Marks: 3

Twa wires of same kenghh and made with sams malenal e

sirelched with the same force. B the radi of the wies are n

the ratic 1°3, then the rabo of ther elongatons i

Dptiona :
1:3

5.

e

31

18

Question Mumber : 3 Question 1d : 156307071 Question Type : WG Dptien Shaffling - Yes
Dimplary Curation Mumber - Yos In Gueation Mandatary : Mo Cakulator - Ners Resgeae Tims
- LA Think Tirwe : BLA Mlinimus Insesuctien Time 10

Carrect Marks : 1 Wrong Marks: §

Along a stream line fles’ of flud

Dptions ;



The welocly af al fluld paricles ai 8 glvan Instant is
consiant

The velocity of a fluid particls remains constant.
L]

The vedpcty of all fluld pascles crossing a given positan

1w 1% constant

Tha speed of a fluid parficle remains constant

F

Queation Musber : 59 Queation Id : 15174874 Question Type | MOQ Dptien Shoffing - Yes
Déspley Question Mumber : Yes Is Question Mandatory - Mo Celoulator - None Respesse Time
= MA Thank Tire : LA lmimum Insruction Time 0§

Correet Marks | 1 Wrong Marks: 3

Which of the following gives frw relation bateeen Ly and G,
Options :
Cp-Ci=R

, Cp=Cv

Cp-Cv>R



L. CPICV=R

Question Musbes : 60 Question 14 : 1563074875 Question Type : MOQ Optien Shoffling - Yes
Dempley Question Mumber - Yes Is Question Mandstary - No Calowiaenr - Nere Besgesse Time
= ML& Thaink Tirmes ; BLA Winimum Instructien Time ;0

Carrect Masks : 1 Wrang Marks: 3

Comprassed ar coming out of punchumed foctball becomes

CODIET DeCause

Dptians ;

adiabastic sxpan=on

Igotermal expansion

s Enmrgy dissipation

o

See-back affect

Question Numsber | €1 Question 1d : 1592074876 Question Type | BOQ Optien Shuflling - Yea
Déspley Queston Mumber - Yes 1s Question Mandstary © No Celoutator @ Neme Respease Tims
= L& Thiank Tirree : BUA bllmimu Instructisn Time ; §

Correet Maiks | 1 Weang Maria . &

The work Sone [Jowe) By & 1 mole of & peddect ges when it sxpanas
maberaly b douse 13 oiine The Rl ermpesiae of e ges
PCana R = R.3080° wrg-mar® i1 | legead = DL}



15.72 joule

.5 1572 joule

5 1672 jule

1572 joule

i®

Question Nusmsiber : £2 Question 1d : 1592074877 Question Type | MOQ Oprion Shaffling - Tes
Demplwy Question Mamber - Ve |s Question Mandstory @ No Celculator @ Nore Bespoese Tims
: HLA Thank Tirew : NLA Ilinimum Instructen Time ;0

Correct Marks : 1 Wrong Mariks : §

The enssgy posssassd by &n obecl by virue of its moBon s
afmed 88

Dptiona :
., Potential Energy

3 o Hinetic Energy
1 o Bravitational Energy

Muclear Energy
l_ L ]



Question Nusber : €1 Question Id ;: 1SEXFTETE Question Type : BMOQ Optien Shoflling - Yes
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Masks : 1 Wrang Marks -
A2 whal speed the observer MUust Move Ionaeds 3 Stalonary
source 3o that the apoarent freguency will be couble the
ongnal fraguency of the souce™ The welnoly of sound & V.

Diptiona :

b =g

LT

= |

Guestion Nummber : 64 Question 1d : 15830747% Cuemtion Type : WMCQ Optien Shaffing - Ye
Dimpley Question Musnber : Yes In Quastion Mandatory © No Calculetor : Nome Bxsgoeae Time
: BLA Thank Tirsee : BUA Minimus Instructien Tirme : 0

Correct Marks : 1 Wrong Marks: &
The displessmant egusion of & pasbele sxssifss SHM i
gven by v = a Sin of = b Cos wi, the resultont ampituds s



ja+ phiie
5 W

{a+h]

fa+bi™

Zam

Queation Numsber ; €5 Question Td ; 15074808 Juetion Type : MG Dpteen Shaffing - Yes
Displey Question Murnber - Yea Is Question Mandatary © Mo Celeulator | Nemt Respasase Time
< MUA Think Tirme | MLA Mlinimum Inseruotos Times : 0

Carrect Marks : 1 Wrang Marks - §

The periode tme (T} of simple pendulem & observed for
diferert lengths (L) If 8 graph of logsl egainst logeT s
platted, the siope of the graph will be

Diptions :

.

=112

aa @



J.--"'2

Question Numiber ; 6§ Question 1d ; 15207 Gwestion Type : MO0 Dptien Sheffng - Yes
Dimplary Quwation Mumber @ Yer Is Guestion Mandatory : No Celcuistor @ Nome Resposoe Time
2 HLA Thisnk Tirme : NUA Winimus Instructien Times : 0

Correct Marks ; 1 Wrong Marks: &

The macmum welocily of a parsole performing SHM 5 012
migac, f 65 madimum acceleration i 045 misec”, then is
fime: period (sachis

Cptions :

wa 154

1.50

L o 157

1.75

Question Numaber ; €7 Question Id : 150R7MEET Question Type ; MOQ Optien Shoffiog - Ve
Diapley Question Mumber - ¥es Is Question Mandatary . Mo Celoulator - Nors Beagesse Tims
*MLA Thank Tirme : ML Ilinimim Inseruotas Time 10
Correct Marks ; 1 Wrong Marks: §

The minimum enengy required o take out an electron from an

slsli metal i cslled

Options:



Kinetic Energy

e Potantial Epengy

. Globs Free Enengy

el

1w Work Function

Question Nussbes : 68 Question 1d ; 1592074883 Juestion Type | MOD Optien Shulflieg - Yes
Dempley Question Number - Yes 1 Queation Mandatory - No Ceicuiator - Mone Resgaorse Time:
= ML Thanki Tirmee : BLA bmimum Instructen Time 0

Correct Marks : 1 Wrong Marks: &

M and My be fhe number of atoms in the ground and secibed

slates. Then the conditon for poputation inverson i

Diptrons

[ TR

3 ME:"N|

M=0



Question Nusber : 8 Question Id ; 1SEXFTEMN Juestion Type : BOQ Optien Shoffling -Yes
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Marks ; 1 Wrong Marks: §

Twn magnets have magnebc moments i he e 21, Ther
pole sirengths are in fhe ratio 1.7 Then ihe ratio of their
magneto enghs s

Dptrons ;

1o

i:1

X3

41

i

Quastion Nussber : 70 Question Id | 1592074885 Guestion Type | BMOQ Optien Shaffng - Yes
Domplay Queestion Number - Yoy s Question Mandstory - Mo Ceiculator - Nore Besgesae Time
: LA Thnk Tirer : MLA Minimum Instructisn Tims ; 0

Correct Mlarks : 1 Wrong Marks: &

The suscaplibility of para magnelic matenal &

Dptions ;

Positve and smal

L



. Pesilive and large

Magative
F |

Zarn

Question Nummber : T Question Id ; 1583074888 Dwestion Type - MO0 Optien Shaffing - Yes
Dezpley Question Murmber - Yes In Qusstion Mandatory - Mo Cakoulator - Nore Resge=ee Tims
: LA Thiarik Tirse : BLA Minimus Instructisn Time : 0

Carrect Marks ; 1 Wrong Marks: §

There are thiee equd resisiors, how many  dffesent
combinabons of these resistars are possibbe.

Diptions :

Faur

Twd

Three

wi
o

Firve

Guestion Number : 72 Question 1d : 15507047 Question Type : 00 Option Shaffasg - Yes
[mpley Guestion Nember : Yes |3 Chestion Mandatory - Mo Celowiator - Nere Resgooge Time



2 MLA Thark Tirmes : SLE Blinimum Inssructben Time : 0
Correct Marks : 1 Wrong Marka : &

¥ihich one af the follwing 15 the perfect diamagnetic?
Dptians
Any conductos

P-Typa samiconductar

M-Type semiconduslor

Supercondusior

Question Number : T3 Question 1d : T9THAE Question Type | W00 Optien Shuffsg - Yes
[expley Cweston Namber - Yes 1z Guestion Mandatory - Mo Celoulator - Nore Besgoose Time
+ LA Thank Tirwe ; BLE mimum Insructss Time ; 0

Correct Marks 1 Wrong Marks : §

The cunment m fhe PN junclion dode during the reverse bias =

e result of
Diptions ;

Majonty camisrs

Minarity carmens

=l



Bath majerity and minonity camiers

Cnly elmcirons

i =

Question Number : 74 Question 1d ; 1593074885 Question Type | MO0 Dptien Shafflang - Yes
[emplery Cherstion Number - Yes Is Chestion Mandstory - No Celculstor - None Beggoase Time
= MLA Think Tiree : KL& mimusn Insgructen Time : 0

Cornect Marks: 1 Wrong Marks: §

Which of the follewng has maximum snangy gap?

Oiptians |

- Imsulsors

. « Superconductors

i Semiconductarns

Ou=stion Numsber : 75 Question 1d ; 15920740098 Question Type | MO0 Opties Shalflng - Yes
Demploy Queston Mumber - Yes Iy Guestion Mandstory - No Celowlator - Nome RBesgoose Tima
* ML Thank Tire - 6 4 linimuym Ingruction Times ;0

Correct hlavks | 1 Wroag Marks: §

Which of the following s true for Ferm energy level for pdype

glirnsic semigonducior?



Oiptions :
A rriddle of the band gap

. Closa to valance band

-

Close 1o conducion band

i Femi level does nod axist

Chemistry
Section [d 15820706
Secrion Mumber El
Sectior ypr Crlrs
ltmnderery or Ot : Moy
Humier of Queationn - 25
Wumiber of Questions to be amtempred - .t
Section Marka - =
Erabls Mark 52 Snwvered Mark for Bevew ars
Clwas Renpormee -
s [sstruceion Time 1}
Sub-fertion Number i
Sub-Secvion 1d: 1382ny
Question Shaffling fllgwed : o
1a Sevtion Delash® - il



Gueszion Numiber : 7 Question 1d : 1352074891 Queston Type : WMOG Optien Shafflag - e
Dspley Cherstion Nesmber - Yes | Question Mandatory - No Caloulator - Norr Resgemoe Time
: HLA Thank Tiree : MUA Whinimumsn Inatructien Time : 0

Correct Marks : 1 Wrong Marks: &

The values of Azmutal and princpal gquanium  numbers

respecively for an sectnon thal 5 presant in 4d orbal

Diptions :

1 andd

4 and 1

Ea
-

dand 4

3

. Sard2

Question Nuwwmber ; 77 Question 1d ; 150074801 Gueetion Type ; BOQ Qptien Shaffng - Ve
Display Question Murmber . Yea Iz Queation Mandatory - Mo Caloulatar . Nors Bzzgesae Time
- MLA Thisnk Tirmse : LA Ilinimiom Inseructoen Tims 0

Carrect Marks : 1 Wrong Marka : 3
Which of the folleving molecule has ionic banding?

Ciptions :
o GHQ

. . CHiOH



Mgl

Question Number : T8 Quession 1d : 15207453 Question Type : MO0 Optien Sheffang - Yes
[emplary Cuwestion Mumber - Yoy Is Question Mandstory : No Crlkculator - Nore Besposse Tims
= BL& Thiank Tirmee : NUA& limimusn Instéructen Tirm : 0

Cornect Alarks: 1 Wrong Marks: &

What s the Cwdation number of carbon 0 formaldehyda?

Dptions ;

=

+4

+d

Guestion Number : 19 Question Id : 15853074854 Guestion Type : W00 Option Shatfiing - e
Gemploy Chorption Nommber - Yoy In Question Mandatory - Mo Caloglstor - Nors Revpooe Time
: ML& Thiank Tirme : 8.8 Minimum Instruction Time ;0

Correct Marks : 1 Wrong Marks:

T Molarity of a scltion containing § g of gucose (molar mass 180

in 30 g of waher |5



Oiptions :
g n

» 01

Question Nwsber ; 60 Question 1d : 1502070895 Quertion Type : MO0 Optien Shaffiing - Yer
Dénplay Question Meember - Yo 1s Question Mandstary - Mo Caloulstor - Nors Beapemae Time
- HLA Thank Timee . LA Binimus Insesuctesn Times 0

Correct Marks : 1 Wrong Marks: §

Pruszian Blue colioid =
Oiptions :
- AszSs

FeilHR

| KFelFeCN]

La FECh

Question Number : 1 Question Id : 1500796 Juestion Type : MOQD Dptias Shofflang - Yes



Dspley Cheestion Mesmber : Ye3 |s Question Mandatory : No Calcufacor : None Respeese Time:
= HL& Think Tirer ; NLE inimum Instructisns Time ; 0
Correct Marks : 1 Wrong Marks: 3

Wihich of the lalleaing anions (s he strongest bhass?
Diptians :

Cro
g

i
 clo;

clo
]

[

o COF

Question Number ; §2 Question 1d ; 15074807 Gumtion Type ; MO Dptin Shaffbng - Yes
Displey Question Muember - Yea Is Queation Mandatary . Mo Caloudatar ;. Nere Resgesse Time
- MLA Thenk Times: SLA Binimum Inszyuoten Time 20

Carrect Marka : 1 Wrong Marks ; &

This pH of 10 malar salution of HCl is
Options
e

. g Between7 & B



Betweoen 5 & T

Question Number ; 53 Question 1d : 1593074898 Question Type : W00 Opthen Shaffling - Yes
Dompley Question Mumber © Yeg [y Question Mandatory - No Celoulator - Nome Besgoese Time
7 HLA Thiank Toree : BLA Wfnimum Insfruction Tims ; 0
Correct Marks : 1 Wrong Marks : 3

Wihich gne of the falicwing is & Rengwable ensrgy Soure?
Oiptions ;
Patroleun

Coal

5« Matural gas

L Wind mills

Question Number : 84 Question 1d : 1592074458 Question Type : MO0 Optien Shafflng -Yes
Dexplay Chorstion Mormber - Yo Tn Chestion Mandatory - Mo Calouiator © Nory Resgemee Time
- MLA Thank Tirme : SLA Wiinimuwe Instruction Time 20

Correct Marks : 1 Wrong Marks: §

Which of the felisng gas s responsitle for depleton of czone layer
m the Fmosphers?

Ciptkons :



, CF:Ch

3 u CHaF

S0

Question Nuwsbes | B5 Question Id | 1502074900 Question Type : MO Optien Shulfing - Yes
Despley Question Mumber - Yoy 1s Question Mandatory - No Caloulator - None Resposse Time
- MLA Think Tiree : NLA Wmimum Insructien Time -0

Correct Marks : 1 Wrong Marks : 3

The exivaushed permmutil s regenerated by pencolating through | a
wolution of

Dptiana
» & Calcurm chloride
1 & &ine chloride

3« Sodium chioride

Kagnesium ehiodde

i .

Question Numlser | B8 Question Id | 1502074901 Queaian Type | MOD Diptes Sholflisg - Yes
[espiey Question Nember : Yes |s Guestion Mandatary : Mo Celoulator : Nore Resgaase Tims



2 ML Thuink Tirmes : RLA blin imue Inssructien Time ;0

Correct Marks ;: 1 Wrong Marks : §

During reverse osmosis

Diptions ;
Digsaived saks are pushed oul thrgugh semipermaabis
membrans

Only dessolved o S8R5 are pushed oul thrgugh the
semipermeable membrane

Fure water is pushed oul feough semipermeahis
FIverTiCrans

Both water and dissabed salts are pushed aut thrawgh the
semipemaahle membrans

Question Nusber : 7 Question 1d | 1392074802 Questian Type | MDD Optien Shailfang - Yea
Despley Question Msmber - ¥es 1 Queation Mandatary @ No Celculator @ Nons Resgaase Tims:
= MLA Thank Timee - BLA inimus Insructien Time 0

Correct Madks : 1 Wrang Marks 3

Which of the fallowing is & weak elscirobyte?



CHAO0H

H!Eﬂ;

Question Nusiber : 82 Question Id ; 1592074903 Juestien Tyge | MOQ Cptisn Shalflns - Ve
Desplay Cuwestion Number - Yes s Question Mandstory - o Calouiator - None Besposse Tims
= M.& Thank Tiree : ML Winimum Instruction Time ; 0
Carrect Madks : 1 Wrang Marks : 3

When 2 amperes of cument s passed thraugh CuS0, salubon for

10 minudes. e amourd of Cu ceposiled is (Adomis wesght of Cu =

6i5g)

DOptions
g 3B4g

030 g

0.788 g

i E

.« 7889

Question Newber ; 19 Question 1d ; 1503074801 Qeestion Type : DG Optien fhaffng - Yes
Deaplry Cusation Number : Yes In Queation Mandatory - Mo Calowletor : Nors Bxspeses Time
2 LA bl Tiimee | KLA Winimmim Ireseruetian Time @0



Correct Marks: 1 Wrong Marks: &
Lompostion af Nichrome alicy is

Dptiona :
e Mi:BES, Cu: 2%, Fe:b%

- Mi:TE%, Cr2l%, Fal'%

= M, Curb0%

[

ol ALBSN, G2, NI Y

Question Number ; 50 Question 1d : 1983074905 Question Type : MOQ Opthen Shufflng - Tes
[empley Cuwestion Number - Yes In Question Mandstory : Mo Celowlstor - Nore Bevpoene Time
7 LA Thisnk Tiree : ML inimum Insfructipn Time ; O

Cornect Mavks: 1 Wrong Marks : §
In fhe froth fletation method, pine oll

Diptions ;.
o Increasas the surface tansion of the soluton

A= as 3 colecior

Does nol affect the =utace tension of the salution

Decresses the surface tension of te sclution



Qumation Humber : 1 Question T ; 1502074906 (uestion Type : MOQ Cption Shaffing - Yo
Dizpley Juestion Mumnber - Yes Iz Question Mandstary : Ma Calzulstor - Mers Besgesse Tims
2 MLA Thyink Tirmee : NLA i imuen Insr sotbes Times 1 0

Correct Marks : 1 Wrong Marks: §

Dwiring sleciro chemical cormasion in acidic envirpnment

Digtiana :

Hydrogen evolution 1akes placs

i.w

Cluygean svalution fakes placs

i

Cygen absorplion occurs

i3 Hydrogen absorption takes place

GQuestion Nwmber ; 50 Question 1d ; 1583074907 Question Type : MOO Optien Shuffing - Yes
Demplay Question Mumber : Yes Tz Question Mandatory - 8o Calsuletar - Bors Besgpzase Tims
* MLA Think Tirme : BLA Minimum Irstruction Tims 0

Correct Marks : 1 Wrong Marks: §

The process of coating of Iron wath Zinc metal is known as

Dptiona :



Shemardizing

., ncing

. Taning

d

Qu=szion Number : 53 Question 1d ; 15317508 Question Type : W00 Option Shaffling - Yes
Demplay Cuestion Mumber - Yoy I Question Mandstory : Mo Celoulstor - Nore Respooee Time
= MLE Thank Tiree : NLA Winimus=n Insgructisn Time : 0

Cornect Marks : 1 Wrong Marks: §
Bakelite [s prepared by the condensation palymenzation of

Diptions :
, o Phenoland formaideh yde

Uraa and tarmaldehyde

I8
s Fhenol and acstaldefde

i Urea and aceiona

Question Newber 8 Question Id ; 1503074808 Qeestion Type : MG Optien fhoffng - Yes
Deapley Cusation Mumber : Yes In Question Mandatory © No Celcwslstor © Noes Respease Time
2 LA bl Tiimee | KLA Winimmim Ireseruetian Time @0



Correct Marks: 1 Wrong Marks: &
The trade name of the poiymer coated on non-sick viensik s
Cipthons :

Cracron

Orlan

y ¢ 1€lon

Question Nussbes : 85 Question Id | 1502074010 Question Type : MO Optien Shoffing - Yes
Displey Question Number - Yes Is Question Mandatory - No Celoulator @ Nome Respoase Time
= MLA Thank Tirse: SLS Minimum Instructisn Time : 0

Coarrect Marks | 1 Wromg Marks: 3

Cctare numiber of a petrol thad consisis 20 &0 mixdurs of n-heptane

and 3 I 4-nmetind pertane

Dptions:

o 100



Question Numsber : 3 Question Id ;: 15X Question Type : BOQ Optien Shoffling - Ye
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Marks ; 1 Wrong Marks: §
Producer gas s & mindure of

DipEmina :
= GG + Ha

CO0+ M
o

1w CO+CH

CHi+H:
]

Question Nusiber : 37 Question 1d : 1592074911 Question Type : MO0 Option Shaffing - Ve
Deaplay Question Mumber - Fea s Question Mandatary : No Celculator  Hore Besgoeae Tima
- LA Thisnk Tiree : MLA Minimum Instructisn Tims : 0

Correct Marks : 1 Wrong Marks - §

For iha folpwing cek ceacon

IR C— gy
—_ —
Tha EMF of the call at 288 K5 (& B RTE ,  —-RIT
P W
Dpesns

= 0190V



10 *O190V

., +0B0V

=0EelhY

Question Numsber ; W Question Id ; 1502070811 Qeetion Type - MOQ Optien Shafflng - Yes
Daapley Choestion Mumber : Yea Ia Question Mandatory : No Celeulator - Nene BEmipesae Time
< MLA Thank Tise : MLA Binimum Inseructies Time 1 0

Correct Marks ; 1 Wrong Marks; §

In Hydrogan-Cygen feel cedl, the reaction at the cathods i

Diptions ;

el e e I
L

4" le = 1H (g

10— O+ 4 - 4

ZH (v BT — A O 1

Question Nussber | 39 Question Id | 1539274914 Questien Type | MDD Dptien Shlflng - Yes
Déspley Question Mumber : Yes Is Question Mandstary © No Celoulaenr : Nome Resgasse Time
- MLA Think Timee : BLA iinimum Insructiss Time -0

Carrect Miasks : 1 Wrang Marks : §



Which of the folowing statemants is true about SIACGET
Ciptions ;
SMOG 5 derved fram fhe fog

SMOG g denved from smoke

>

¢ SMOG is derived fom waber vapour

i SM0S m demved from boéh fog and smcke

Question Nusmber : 100 Guestion 1d - 1580074015 Question Type - OO Option Shuffling - Ve
Dimplay Qurstion Number : Yo In Gusstion Mandstory - Mo Celculator : Mo Resgpeoee Tims
= MLA Thiank Tirme : LA Binimis Instsuctien Time : 0

Correct Marks : 1 Wrong Marks: §

‘Whai da BOC and COC stand far?

Dprions :

Biological Cuygen Demand and Chamical Dxygen
Demand respactivaly
i v

Chemical Cooygen Demand and Biclogical Cxypgen
Dernand respectively

Botanical Cuiygen Demand and Chemical Cuygen
s DEmaEnd respectively

=l



Easic Dzygen Demand and Chemical Cxygen
o Demand respectioaly

Civil Engineering
$eciion e - 15A207RT
Section Numnber - 4
fection type- Qe
llandatery ar Dpiasnal : MesEaimry
Kumiber of Questions - 100
Humiser ol Questions  be antempied . 120
fection Marks: 100
Emskdes Mark a3 Andwveicd Mark far Review amd
Clear Reagaems @ s
Mmsirmum [aptrus tion Teme - 1
Sub-Section Number: 1
Sub-Section Id : 153287118
Dueytion Srarffling Allowed - fax
Ia Sectien Defaul’ il

Queszinn Mussbes : 101 Question 1d : 1552074918 Question Tyge - MOD Optins Shulfling : Ye
Dvempley Question Number - Yes 1y Guestion Mandaiory - Mo Celculator - None Resgaorse Time
7 BLA& Think Tirme ; M. kimimym Instruction Time ; 0

Correct Marks : 1 Wrong Marks:

‘The Foey, ‘wbich 4o nel meel & e port, e fhes e of sdios 98 e o0 e
HmEpre B

Dptisns ;



Coplanar concument forces

-

Goplanar non-concurreni forces

I

Mon-coplanrar concurrant farcas

5\.-

MNon-coplanar non concument foroes
4 =

Question Number ; 107 uevtsan Id - 1580074017 Question Type : MO0 Dptien Fhuffing : Ye
Diapley Question Mumber - Yes Iz Question Mandatary : Ma Celoulator - Ners Beagesse Tims
2 HLA Teank Tirmee : MLA Mlinimum Instructies Time : 0

Carrect Marks : 1 Wrong Marks - 3
F several forces acting &f & poent. thesr resultant is goven by
Dptiona :

[V +(ZHY

ST T AT

[

(VY- (ZHY

=i



JIEVY  (EL)

4 =

Question Numiber : 103 Guestion Id - 1252074918 Question Tyge : MO Option Shuffling : Yes
Despley Quwestion Namber - Ve |s Guestion Mandatory - No Celosator - None Resgaese Tims
+ HLA Thank Tirew : BLE linimus Instructies Time ;0

Correct Mlarks ;1 Wrong Marks: ¥

The ceetnt of gty = as voulalersl easge b 3ty of B tren tides ih sach
e,

| g

Question Newber ; 104 Jueytisn Id ; 1550074018 Question Type - MO Optign Fhuffling - Ve
Deaplay Cusation Number : Yes Ia Cueation Mandstory © No Celcwlator © Noes Respesse Time
2 LA Tk Thimes : MUA MGRimum Instructies Time (0

Carrect Marks ; 1 Wrong Marks; §



Tz esameest o izl of & rectanpuiar ssehon &0 me wide s 50 e deep A0
=¥ oo e, verbenl aojin
Diptinns :
72w A0 !

7 = 10" mm"
&8 = 107 mm”

32 w A0 mem®
L

Question Nusmbes : 105 Guenssn 1d : 1532074900 Question Type - MDD Optias Shuffling - Yea
Drmpley Question Number : Yes s Question Mandatory - Mo Celculator - Nome Respasoe Time
+ LA Thank Tirme: SUS Binimus Instructisn Time : 0

Correct Marks : 1 Wrong Marka: &

Tre et of gty of hewephee des & 3 dstce of fom = bese
ek S Erg e veetical redis

Diptions ;

E
[



ar

H
e

'.l_
ie o

Question Nussber : 106 Question 1d : 158074011 Question Type - WO Optios Shuffling - Yeu
Dimplay Question Mumber : Yes Is Question Mandstary - Mo Caloulatar : None Bzapeaen Tims
- MLA Tk Tirmes © NLA Minimis Instsuctien Time 0
Carrect Marks ; 1 Wrong Marks: §

The moment of inertia of & plane is E<10°* mm*. if its area is

0000 mim” then ks radius of gyratian will be

Options :

100

(]



Question Numiber : 107 Juestion Id : TSE0T401T Question Type - WOQ Option Shufling : Ye
Deapliy Queestion Musnber - Yea Is Chesation Mandstory : Mo Calzulstor - None Respesde Time
2 MLA Thyink Tirmee : NLA i imuen Insr sotbes Times 1 0

Correct Marks ; 1 Wrong Marks; §
Harer can b the Foisson's raio be expressed in terms of
Bulk modulusiK ) and modulus of Rgedity G )7

Dptiona :
(BE=38}
L ERE)
FED
s w  GRED
L]
LS|
= &
LE L]
(BT |
* o

Queation Numiber ; 108 Gusstion Id : TS02074023 Queation Typs - WOQ Option Shuffing : Ye
Displey Questan Musaber - Yea 15 Question Mandatory © Mo Celeulsens - Nome Respeaase Time
2 LA Think Tiree : SLA blinimuemn Inaer uotes Time 10

Carrect Marks ; 1 Wrong Marks; §



A matenal has a Poisson s rafio of 0.5 If undiorm pressure
of J00GR3 s appled 10 that matenal. what will be the
wolumetric strain of it 7
Dptians
1

15

Ciuenzion Nusber ; 108 Quertion Id : TRHTI0N Question Typs - MO Option Shuffling : Ve
Display Question Momber . Yes Iz Qusstion Mandatary : Mo Caloulator  Mens Reagesse Tims
< MLA Thank Tirmes : BLA llinimum Instruotes Time ;0

Correct Macks ; 1 Wrong Marks:

Modulus of ngidity may be defined as the ratio of
Dptions ;

Shear Strain
Shear Stress

Shaar Stress
Volumelre Strain



Ldpear Sess

3. Lamoar Strain
Shear Strose
i Shewr Sirain

Question Newber ; 110 Guestion Id - 1553074087 Question Type - MO Optian Shuffling : Ve
Dompley Question Menber - Yeu I Cuestion Mandstory - No Celoulator - Nore Besgoee Time
- BLA Thank Tiree : NLA inimum Inagruetien Time : 0

Correct Marks : 1 Wrong Marks: §
Ha materal has entoal properties in o directions, i 15

knoam s
Dptione :

Homeagensaus

Plashis

Ductile

Guestion Number : 191 Guestion 1d - 125007495 Question Type : MOD Option Shuffling - Yes
[mpley Guestion Nember : Yes |3 Chestion Mandatory - Mo Celowiator - Nere Resgooge Time



2 MLA Thark Tirmes : SLE Blinimum Inssructben Time : 0
Correct Marks : 1 Wrong Marka : &

Find the steain of & brass md of lengih 300 mm which B
subjpciad fo a tenaile oad of 50 kN when the edenszion of

rod & egusd 1o 0.3 mm?
Options ;

B

10

0.01

04

Que=stion Number : 112 Guestion 1d - 1552074837 Question Type - MO Option Shuffling - Yes
[emplay Curstion Nemmber - Yo Is Question Mandstory - No Crloulator : Nore Resgeene Tima
= HLA Think Tiree : LA Winimum Tnstruction Time : 0

Correct Marks : 1 Wrong Marks: §

When the lpading ona beam passas throwgh the bending
s, the beam does nat have

Ciptions :

Shear



Twistng
E

Deflaction

i ®

‘Question Numiber 11amm;m.mmnu;u:qupunm:m
Dempley Question Mumber - ey Is Guestion Mandatory : Mo Celculator - one Respomse Time
= KA Thonk Tiree : NU& Winimusn Insructsn Tire : 0

Cornect Alarks : 1 Wrong Maris: &

For a simply supponsd beam with a cenral load, then the
bending maorment s

Digtian !
Laasi at the centre
Least &t the supports

i |
Magrman at the suppens

bazimum at the cente
i+



Question Nusber : 174 Queyiion Id : TS92074019 Question Type - MOQ Option Shuffing : Yex
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Marks ; 1 Wrong Marks: §

Euler's formity stales $al buckiing load P for 2 colemn af
length, ' bol ends hinged and whese keasi mament of
martia and moduies of siasborty of the material of thecolumn
e | & E respectively & ghven by the retation

Dptiona :

me el
Jl

P=

[ ¥

-t
i

Question Numiber : 115 Guestion 1d - 1552074830 Question Type - MO Option Shuffling - Yes
Dempley Guwestion Muember : Ve |s Guestion Mandatory - No Celosator : None Resgesse Time
- ML& Think Tiree ; BL& Winimum Instruction Times ; 0

Correct Marks : 1 Wrong Marks: 0



A long verscal member sulbjecied o an axia comprESENE
foad = called

Optione:
=B A Calumn
. @ ASA
. A Tie
& Stanchion

Que=stion Nwwber : 176 Guestion 1d - 155307403 Question Type - WO Opton Shuffing - Yes
Cimpley Cuestion Mumnber - ¥es In Question Mandstary - Mo Celoulator - Nors Reypese Time
- HL& Thenk Tirse ; BLA Whnimuen Tregructes Time : O

Correct Marks : 1 Wrong Marks - §

The mazemum I".'-'I:!tll'rﬂ momeni 2 shall can resis s fhe
product of permissible shear stess and

Diptians :
Eoment of Ineriia

Pofar moment of inertia

Folar Moduus



Podulus of Rigldity

Question Number ; 117 Question Id - 1352074932 Question Type : BMOG Option Shuffling - Yes
Dompley Question Mumber © Yeg [y Question Mandatory - No Celoulator - Nome Besgoese Time
= MLE Thank Tiree : KL& mimuen Insgructen Time : 0

Cornect Mlarks: 1 Wrong Marks:

The vake of Poizson's ratic alvays emans
Dptions ;

Craater than ond

Lass than one

Equal to ana

Zera

Queation Number ;: 118 Guesisan 1d : 1502074030 Question Typs : MIOG Option Shuffling : Ye
Diapley Question Musmber | ¥es I Question Mandstary - Mo Calewlatar - Name Resgesse Time
= BLA Thuink Tirmee : MLA Wlinimus Inssruotien Time ;0

Correct Marks : 1 Wrong Maria: 3



The sheat stress af a given point A in & cfoss section of &
rectangular beam is SON/mm. I the width of the beam is

reduced 1o half, the previous stress at the same levet A
will e

Ciprhons :
- B’
- n 50 Mmmd

100 Mimm?

200 Mémm”
i E

Qu=stion Number : 119 (usstion Id : 155071934 Question Type - MOQ Optian Shuffling : Yes
Dexpley Guestion Muenber : Yeu In Guetion Mandetory : No Calculstor - Nors RBeypenee Time:
= MLA Thank Tiree ; L& Mmimusn Insgructien Time : 0

Correct Mlarks: 1 Wrong Marks: §

The ratic of the mament of Inerlia of a circular plate and
that of sguare plate for eoual dapth i=

Dptiona ;
2

. o Equaltoone
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T

Question Numiber ; 120 Question 1d : 1352074935 Question Type - MOQ Optian Shuffling : Tes
[impiry Questhon Nwmber - Ve |z Question Mandatory - No Ceiculstor - Nore Besgome Tims
- LA Thenk Tiree : BLE Whnimwm Insgructesn Time : 0

Correct Marks : 1 Wrong Marks: §

A eolumin |3 sai to be @ medium s@e 1 i slendemess
ratio is betwasn

Dptione:

o Z0and 3

2 32 and 120

. 121 and 180
{61 and 180

L=

Question Nember ; 1371 Guestion 1d - 155071036 Question Type - MO Optian Fhuffling : Yea



Dspley Cheestion Mesmber : Ye3 |s Question Mandatory : No Calcufacor : None Respeese Time:
7 MLA Think Tiree ; MLA inimum Instructien Time ; 0
Correct Marks : 1 Wrong Marks: 3
Value of maximurm deBection of a simply supporbed beani
with Unifarmly distribuied load cwver enfice span is
Dptiona :

|~'|-\.'I|24E|
WIvEEEI

I.-

SwiIB4E|

Swit 38<EI

Question Number ; 127 Guestion 1d : 190017 Question Type - BOG Option Shuffling ; Ve
Dapley Question Mwmber : Yes I Question Mandatory @ Mo Calkculator : Nene Resgesas Time
= NLA Thank These @ LA Binimu Instruoties Time 0

Correct Macks ; 1 Wrong Marks ; §
Macaulay's method i very useful for coses when

Dprans :

Soan is fully laded

- Span is partially loaded



Span is man uniformy loaded

Gpan s having fxed supports

Question Nusber | 123 Questisn 1d - 1950074008 Question Type : WO Dptisa Shuffling - Yes

Displey Question Mumber © Yes 1s Question Mandatory : Mo Celculator - Nome Respense Time
- ML& Thimk Time : BUA Imimum Instructen Time ;0

Correct Marks : 1 Wrong Marka : &
¥ Lg= Actual kength of columm, s = efeciive length. few is
maximum radues of gyration of the cross seclion. f. 8

minimum radius of gyvallon of the cross seclion

slendemess raba used in Euler's ar Rankine Formula =
equal fio

Options

La/ o

Le/ four

La/ Frn

L £ Fami

Question Number ; 134 oestion Id ; 1553074038 Question Type - ML Optign Shuffling : Yex



Dspley Cheestion Mesmber : Ye3 |s Question Mandatory : No Calcufacor : None Respeese Time:
7 MLA Think Tiree ; MLA inimum Instructien Time ; 0
Correct Marks : 1 Wrong Marks: 3

Which ons of the column has least affective length
Dptisna

Boih ands fixed
¥

Both ands hinged

Ore end fixed and the ofer one fras

Cne ard faad and the other one hnged

F

Question Musber ; 125 Question Id - 1550074040 Question Type - MG Option Shuffling - Ye
Displey Question Musaber - ¥es Is Question Mandatary . Mo Celzulstor - Nens Resgesse Time
7 MLA Think Timse : KL binimum Inssruction Time 0
Correct Marks ; 1 Wrong Marka; 3

The Rarking congtant in e formuia for asial loads on

columin made of maters of crushing sirength fc ard
modlus of etasticity E is given by

Dptisns ;
f:

. s TG
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Question Mumiber ; 126 (uestion Id - 1952074847 Question Type - WOD Option Shuffling : Tes
Demplay Quwrstion Mamber - Yen In Quesdion Mandatory - Mo Celoulstor - Nore Resgoose Time
- BL& Think Tirew ; BLA inimum= Inegructss Tire ;0

Correct Marks : 1 Wrong Mariks : §

What will ba the coefglent of thermal esparsion of
concrete as per 1S 4562000 if granite aggregates are
Used for making concrete

Options
i d 0.7 0095 <10 °C

1,240 1.3 w10 PC

0.8 to 0895 =10= MG

M
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Queszion Mumder ; 127 Question 1d : 1550074543 Question Type - MO Option Shuffling : Ye
mpley Question Mumber  Yes s Guestion Mandatory - No Celcslator : Nore Besgaose Time
= BLA& Thuardk Tirmw : AL blimimum Instruction Time ; 0
Correct Mavks : 1 Wrong Marks: §

Area of tensie resnforceneent In |Splaled fooling IS

caloulated &8
Oiptions :

Short column

Lang column

Shirupa

i+ Olabs

Question Numiber : 128 Question 1d - 19520745843 Question Type - MOD Optias Shuffling - Yey
[empley Cherstion Number - Yes I3 Cheestion Mandastory : Mo Cploglator - None Bespesse Tima
= LA Thank Tomwe : NLA& Wmimumn Inagroctoen Toime : 0

Correct Marks : 1 Wrong Marks: §
Acocording to 15 4562000, what could be the minimum
honzonisl distance requeed betwsen two ndividual
paralel mai rainfarcing bars



Oiptions :

1B limeas dismeder of ke main bar

0TS times the dismeler of siifup

5 mim mora than the raminal maximum size of
CoMSE apgregate

r

300 mn

Question Mussbes ; 120 Question Id - 1500074044 Question Type - MO Optins Shuffling - Yea
Daspley Question Musnber . Yes Is Question Mandstary - Mo Caleudatar - Nert Resgesse Tims
< MLA Thenk Tirmee : BLA ilinimum Inssyuotien Time :0
Carrect Masks : 1 Wrong Marks: 3

in it state of design, the Emifing depth of neutral awis for

F. 500 grade siesl =
Dptizna ;

_, Odad

046 4q

053
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Question Number ; 130 Quertion Id : TS00074045 Question Type : MOQ Dption Shuffling : Yo
Display Question Mumber . Yes Is Question Mandatary : Na Celeulstor : Nere Resgesse Time
= ML& Think Times : MLA binimum Insruoten Time : G
Correct Marks ; 1 Wrong Marks: §

As per IS 4582000 fhe ongarc malier of waler used for

maiing concrebe should mat e more than

Diptions

1000 mgA

L o 200 mgh

400 mgA

3000 mg!

Queation Numiber ; 131 Guestion Id : TS02074048 Queation Typs - WOQ Option Shufling : Ye
Displey Questan Musaber - Yea 15 Question Mandatory © Mo Celeulsens - Nome Respeaase Time
= WL Thuink Tirmee : RLA Binimum Instructien Time ;0

Correct Marks ; 1 Wrong Markz; 3

Witen HYED bars are vsed in place of mild sisel bars. e
bond strengin in ROC will



b
-

Reman constant

Become zem

Quention Number ; 132 Guertion Id - 1580071007 Question Type - MO Option Shuffling - Yes
Déaplay Question Mumber : Yes In Question Mandatary . Mo Caloulator - Nors Rzge=ee Tims
2 ML Thsbrrk Tirmee : LA Mlin imusn Insaructien Time ;0

Carrect Marks ;: 1 Wrong Marks: §

The mimimum number of langiudnal bars required for the
croulal colunin as pef oodal provsions

Dptisns :



Question Nusmbes : 133 Guestian 1d : 1592074048 Question Typs - MDD Optias Shuffling : Yea
Tespley Question Mumber  Yes Is Question Mandatary | No Celewdator | Neme Respesse Time
- LA Thenk Tirmee - BLA Binimum Insaruction Time ;0

Correct Marks : 1 Wrong Marka : 3

What & the efiecive engih of column heid in poslion a1
bodh ends but not resirained againat rotaBon is geven by

Dptiens ;

1.5L

DAL

1L

4

Q.BL

Question Numsber | 134 Question 1d : 1550074049 Question Type : MOD Optiss Shullling : Yes
Dspley Question Mamber : Yes Is Suestion Mandatory @ Mo Celoulator @ Nome Respasse Time
7 HLA Think Tirmee ; BLA Wimimum Instructisn Time ; §

Coarrest Marks 1 Wrong Marks . 0



The lengih of the siairease siualed betwveen bxa landngs
| keoan 28

Dptions ;

Duestion Number : 135 Question Id - 1352074583 Question Type : MO Option Shuffling - Yea
Dempley Guwestion Mumber - Yes [ Cresstion Mandsiory © No Celoulstor - Nore Besgoene Time
+ Mk Think Tire : MUA Wfmimums Instruction Time ;0

Correct Mavks : 1 Wromng Marks: 3

For oneway slab, the ratio of longer apan to sharter span is
Dptione ;
.25

0E



Giealer than ar egual o 2

i

Question Number : 136 Question Id - 15520745857 Question Type - MOG Option Shuffling - Yey
Domplery Question Menber - Yeu I Question Mandstory - Mo Celculetor @ Nore RBesgoee Time
= MLA Thiank Tirme : BLA Winimue Inatructien Time : 0
Correct Marks : 1 Wrong Marks: §

The mazimem area of fension meinfecement i beams

should not ba mane than {witrd b = Breadth, D =

Depth)
Diptions :

. 04D

00460

0.086D0

0.0800

Question Musber : 137 Questisn 1d 2 1582074952 Guestian Type - WIOD Opties Shuffling : Yes
(espiey Question Masmber @ Yes |s Guestion Mandatory : Mo Celoufator : Nore Respaese Tims
+ LA Tk Tiree : BLA inimus Instructien Time : 0



Correct Marks : 1 Wrong Marks : ¢
For a quantity of 25 m* of concrete =ork. a5 per codal
provisions mendon the mimimwm number of samples
regaired for festing the gualty of concrets
Dptions
|

12

Question Nember ; 130 Gueytion 1d - 1550071053 Question Type - MO Gptian Shuffling - Ve
Dimpley Question Number - Yes In Question Mandatory : Mo Celculstor © Nome Resgoee Time
: HLA Thark Tirme | NUA MSinimus Instrudtoss Time ' 0

Eorrect Marks ; 1 Wrong Marks ; §
Permissible arror in chaining on hilly ground =
Oiptions :

;8

fin 250
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Qusstion Nusber : 138 Juestian 1d - 158007405 Questicon Typs : MIOG Optien Shuffling : Yea
Tespley Question Mumber . Yes Is Question Mandatary - Na Celeulatnr | Neme Resgesse Time
< MLA Think Timee : ML& Blinimum Insruction Time -0

Correct Marks : 1 Wrong Marka: §

In whole gircle bearing systern M25"1EW oorrespond io
Diptions :

{15015

e 1545

205"5

I4aE

Question Number ; 140 Guevtion Id : 1593074055 Question Type - WO Optign Fhuffling : Ye
Dizpley Cusstion Mumber : Yes Ia Queation Mandatory © Mo Celculstor : Ners RBxapesse Tims
+ MLA Thank Timee | NLA Winimiom Inseruoties Time @ 0

Carrect Marks ; 1 Wrong Marks: &



The henzonta! angle betesen the tue mendian and
mmmmmn

Diptions :

True bearng

Magnetic decinaton

Local attractkon

-t

Dip

Question Number ; 141 Qusytion Id : 1500074056 Question Type - MOO Dption Shuffling : Yo
Déapley Question Mumber . Yes Is Question Mandatory - Mo Celoulatar - Nore Resgasse Time
- NLA Thafik Tirmee © NLA iinimii Inser udties Time (0

Correct Marks ; 1 Wrong Marks;

The contour ines can ooss one ancther on map only in
casa of

Dptions ;
A verlical ¢l

#n gyerhanging oiff



& valley

& ridgs

Question Nusiber : 142 Question 1d : 1550074957 Question Type - MO Optian ShuFfling : Yea
Displey Question Mumber - Yes 1s Question Mandatory © Mo Caloulator © None Rezpense Time
7 MLA Thuank Tirme - BLA limimum Insructisn Time : 0

Correct Madks : 1 Wrong Marka: B

In leweling, height of inslrumiznl is
Cptions :

Thee hlght ot tha lewsling staff

T sum of e mduced level of 804,

and foreaight

The alevation of plane of collimation

3w

Thee height of felescope above the grownd at the

time of obsarvatin



Queation Numiber : 141 Juertion Id : TSE07T4058 Question Type - WOQ Option Shufling : Ye
Diapley Question Mumnber - Yea Iz Queation Mandatary : Mo Celeulatar - Nors Resgesse Time
2 MLA Thyank Timee : NLA blinimumn Insayuotes Time ;0

Correct Marks ; 1 Wrong Marks; §

The process of establishing intermediale points bebwesn

two end points which ane not inter wisibie with heidp of a
Theodolts s onown as

Dptions ;
Ranging
T Lining - in
Interpedaticn
4 Balancing-in

Question Numiber ; 1dd Quertion Id : 150007105 Question Type - MOQ Optios Shuffling - Ve
Dizpley Question Momber - Yea Iz Question Mandatary - Mo Caloulator : None Reagesse Tims
2 MUA Think Timez : SUA Binimuen Inssruotens Time : 0

Carrect Marks ; 1 Wrong Marka; &

Geodebe surveyng is difesen! from plane surveying
pecause

Dptisns ;



The cunvature of the earh

The Erge difference of sevalion batwsen

ArOUs points

Covarage of very largs area

Undulations of the wpagraphy

Question Number : 145 Guestion ld © 15950074980 Question Type - WMOD Ophon Shuffling : Yes
[empley Cwrshon Mamber - Yes Is Cheesdion Mandstory - Mo Caloulator - Nore Besgoose Time
- HLE Thank Tiree : LA Mnimues Jregructen Timee : O

Correct Marks : 1 Wrong Marks - §

The collimaton method for cbtaining the reduced levels does
mol proveds 3 check on

Oiptions ;

Fare sights

Back sights

(4
-



Change paints

Intenmediate sights

L

Question Newber ;146 Jwestion Id - 1550071061 Question Type - MO Option Shuffling - Yes
7 ion Musnber : Yes In Qusntion Mandatory : Mo Cakudetor : Hore Besgesee Time:
2 MLA Think Thve : LA Minimue Lnstsuctien Time ! 0

Carrect Marks ; 1 Wrong Markx: §

el

A branch of suremying in which the honzontel and veslical
distances of pardt are ablaired by meirursenial cbseratons
ane kngwn as

Dptiana :

Chain Surveying

Tachomelric surveyirg

Plan table survying

Hydragraplile survaying

Question Number ; 147 Guestion Id ; TS93071063 Question Type - MOQ Option Fhuffing : Ye
Daplaey Qusstion Nuenber : Yes I Qusation Mandstory : Mo Calcusletor : Nors Bespesse Tima



: MLA Theank Tirmee : LA Blinimum Inssructen Time ;G
Correct Marks : 1 Wrong Marka : &

LiaThads weed for oollection of digital field data i
Dipckons :

Radiation

Interspction

Traversing

sl

Resecion

Question Nember ;: 140 Gueytion 1d - 155007067 Question Type - ML Gption Shuffling - Ve
Dimplay Qustion Number @ Yes Is Quastion Mandatory : Mo Celcuistor © Noroe Respoese Time
: HLA Thiank Tireee : NLA Wlinimums Instruction Time : 0

Correct Marks : 1 Wrong Marks: §
GIS deals with which kend of data
Diptions |

Numerical data

Binary data



Spatial data

Complex dals

4w

Qusstion Nosber : 140 Question 1d - 159207406 Question Type - MO Option Shufing : Yo
Duspley Queestion Musnber - Yes Is Gusstion Mandasary . Mo Celeulstnr : Neme Resgesse Time
2 MLA Thonk Tirmes : BLA Binimum Instructen Time ;0

Correct Marks : 1 Wrong Marks : §

Ulrits of viscosity in G635 system is ghven as

Cptions :
K Stoka
Poize
r o
Cant-sicke
. Witts

Question Number ; 150 Questien Id - TR00T105 Question Type - MG Gphas Fhuffling : Ve
DSaplay (uestion Number : Yes Ia Chemation Mandatory : No Calculstor - Ners Bespesse Time
= MLA Thiank T | KL Wlinimun Inatsuetien Time : 0

Correct Macks ; 1 Wrong Marks - §



The reciprocal of bulk modules of etasticity known a5
Dptiona :
Surface tension

., Capikasy

Wiscasty

Question Numiber : 151 Guestion 1d © 1952074568 Question Type - MOO Optina Shuffling : Yes
Drsmpley Question Mumber - ¥ey 1s Question Mandatory - No Calouiator © None Respesse Tims
= WA Tk Tire ; BLE Wimimos Insfruchss Tire ;0

Correct Mlarks | 1 Wrong Marks . B

f e eharacienstics of fiow in & pipe does nof change with tmz
it my poirt the Raw is said b be

Diptions ;
Uniform flow

Mon umifom flos



Unsieady flow

Gu=ssion Numiber ; 152 (uestion Id - 15071967 Question Type - MOG Option Shuffling : Yes
Diepley Quwstion Muenber © Yor In Qusation Mandatory : No Calzulstor - Nore Rewpesee Tima
= MLE Thank Tiree : KL& mimuen Insgructen Time : 0

Cornect Mlarks: 1 Wrong Marks:
The atmosphenc pressure head s
Diptions :

123 kMim®

104.33 m of water

T60 en of mencuny
L

1000 m of water

Question Nusber : 151 Questian 1d = 1550074060 Question Type : MOQ Optian Shuffling : Yea
Displey Queesvan Mumber © Yes s Question Mandstory - No Celoulseor @ Name Resgasse Time
< BLA Thnk Tirmee - BLA ilinimum Instructien Times 10

Correct Marks : 1 Wrong Marka : 3

Filel fube = used to measure



Oiptions :

Capth at a point
3 Velocity at a paint
- Pressue al a poim
Fiow al a peint
4 &

Question Mussber | 154 Questisn Id : 1590074963 Question Type - MO Optinn Shufflieg - Yea
Displey Question Mumber © Yes s Question Mandatory © No Celcularor © Nome Respaese Time
+ MLA Think Tirse : KA inimum Instructien Tims : 0

Correct Marks : 1 Wrang Marks: §

Reciprocating pump & suitable i

Dptiona :

High dizchargs and high head

High discharge &nd o= head

Lover discharge and ke head



, Low discharge and high head
i

Question Nussber : 155 Guestion Id - 1552074970 Question Type : MOD Option Shuffling - Yea
Dempley Quastion Nuenber @ Yes In Quamtion Mandatory - Mo Celculetor : Nore Resgeeae Time
= LA Thiank Tirme : BLA Winimus Instructien Time 0

Correct Marks: 1 Wrong Marks:
Hydraulic gradieni ling represents the sum of
Options

Fressure head and kinetle haad

Kineic head and datum head

o Pressure héad and datum head

Einetic head, pressure, and datum head

Question Nussiber : 156 Quertasa Id : 1552074971 Question Type - MDD Optins Shufling - Yea
Despley Queeston Mumber - Yes 1= Question Mandstory © Mo Celoularor @ Nome Respasse Time
< MLA Thiink Tirme : BUA iinimum Instructien Time -0

Correct Madks : 1 Wrang Marks : §

Aecarding o equation of sontinulty

Dptisns |



Wyl = Wyily

i Wy = Wby
il = Paldy
Ty @y
¥ P

Question Numiber : 157 Question 1d : 1552074972 Question Tyge : MOQ Optias Shulfling : Yes
Déspley Question Mumber : e 1s Question Mandatory © No Calculator © Neme Respoase Time:
= M8 Think Tirmee : BUA ilimimums nstruction Time : &

Correct Masks : 1 Wrong Marka 1§

Coefficient of discharge C, is equal to

(T8



Cel Gy

Question Nwewmber ; 15§ Guevison Id - T5530710TE Question Type - MG Option Shuffling - Ve
Deapliry Chusation Mumber : Y Is Question Mandstary - No Calculator : Noee Resgense Tine
= MLA bk Thrmee LA Iinimu Inseructien Time (0

Correct Marks ; 1 Wrong Marks: §

The discharge cver a rectangular potch is
Dptiona :
;% Cq % B{,/2eH)

o 2
FHCax bi/2g)H

B . (B

L X0y x b2 B#7)

oo i 2
i:r:i.dﬁ-: b,/ 2g H:

e

Question Nusmber ; 159 Guestion 1d © 1550074974 Question Type - MOD Opuias Shuffling : Yeu
[empley Question Number - Yes |3 Guestion Mandstory © Mo Celoulator - Nore Bespesse Tima
 HL& Thank T ; N mimum Imgructen Times ; 0

Correct Marks : 1 Wrong Marks: §



Kaplan turbine is an

Dpesns |
Radial fiow turbing

Auiial flow reaction turbing

Impuise turbing

Mixed flow furbine

Question Number ; 180 Question Id : 19074875 Question Type - MOG Option Shuffling : Tes
[emplery Chrestion Namber - Yo In Question Mandsiaory : Mo Celowlator - Nore Beypoese Time:
= HLA& Thsnk Tirmee : MUA Wenimusn Instructesn Time 1 0

Correct Marks: 1 Wrong Marks: §
Which one of the following phenomena in & pipe fow is termed
Bs wEier hammer?

Dptions :

The sudden rise of pressure in & long pipe due o

gudden closure of vaka,



The rise of pressure in 8 pipe flow due to gradual

closure of valve

The rise of negative pressure.

The 2ero prassure in a pipe fiow.

Question Numsber ; 161 Quertion Id : 1500074076 Question Type - MOG Dptios Shuffing : Yez
Deapley Question Mumber : Yea I3 Question Mandatary | Ma Celeulator . Nome Resgasse Tims
2 MLA Think Tiree - LA bsnimum Insructan Time ;0

Correct Macks : 1 Wrang Markos : &

If the depih 5 8.64 cm on a feld over a base peniod of 10 days,
N duy s

Dptiona :

10 heclares per cumisec

100 hectanes par cum/'sec

864 hectares per cum/sac



1000 hactaras per cuim/sac

Guestion Nurmber : 162 Quevtion Id - 1558074977 Question Type - MO0 Option Shuffing : Yes
Dimplry Quarstion Mumber - ¥rs Iy Qustion Mandatary - No Celculstor - Nors Respesae Tima
= LA Theark Tiroee : BLA Wlinimus Insesuetven Time @ 0

Correct Marks : 1 Wrong Marks - §

The Effeclive precipitation for a crop is defined as
‘Dptians .

The total precipitation minus infilration osses

The depth of waler transpired from the crop

The total preciplation minus evaporation and

transpiration

The avaiable water in the soil within the root zone of

the crop

A e

Question Number : 163 Guestion Id - 1253074578 Question Type - W] Option Shuffling : Yes



Dspley Cheestion Mesmber : Ye3 |s Question Mandatory : No Calcufacor : None Respeese Time:
7 MLA Think Tiree ; MLA inimum Instructien Time ; 0
Correct Marks : 1 Wrong Marks: 3

The rabo betesen the area of & oop imigated and the quantiiy
of water required during the emiire perod of growsh is known 25

Diptions :

Celta

Duty

Base period

Crop period

Guestion Number : 164 Guestion Id - 195007481 Question Type - MO Optian Shuffling : Yes
Dempley Cuwestion Mamber - Yes Is Guestion Mandatory © o Celoulstor - Nore Besgonse Time
: HLA& Thank Tiree : MLA Winimusn Inaéructiss Timm ; 0

Correct Marks : 1 Wrong Marks: §
The runoff of a drainage: basin is
Dptwons;



Initial recharge + Ground waler accrefion +

precipitation

Quention Number ; 165 Quevtion Id - 1552074000 Question Typs - MOQ Option Shuffling - Yes
Displey Question Nomber . Yea Is Question Mandatery - Mo Caloulator . Nere Respease Tims

inltlal recharge + Ground waler accretion

precipilation

inktial recharge - Ground waler accretion

precipitation

Initied  recharge - Ground water accretion

precipitation

2 MLA Thank Timez : SUA Blinimum Inseructien Time : 0
Correct Marks ; 1 Wrong Marka: &
memmm.ﬂmmmmlmmﬂm

Diptiana :

Furrgw [rigation



Check basin |rrigation

Barder method of Imgation

Sprinkler irrigation

Question Nuwwber 1 166 Quertion d - 1583074087 Question Type - MO Option Fhuffing : Yex
Dézplay Gusation Muamber : Yo Iz Queation Mandstory : No Celculstor : Nore Reyposee Timas:
: HLA Thank Tirmee : BLA Minimusn Instsoctien Time : 0

Correct Marks : 1 Wrong Marks - §

The most seteble mehod of Imgatan for aress Rawng low
faintall and sirong winds &

Options:
Furrow Irrigation

Sprinkler brigation

Drip Frrigafion

Contour Farming

ad =



Quention Numiber : 167 Juestion 1d : TSE0T4000 Question Type - WO Optios Shufling : Ye
Desplay Question Musnber - Yei s Question Mandstory - No Caliulstor - Nore Reipaase Time
2 MLA Thyink Tirmee : NLA i imuen Insr sotbes Times 1 0

Correct Marks : 1 Wrong Marks : 3
Consider the foliowing statemants:
Fhreatic line in an earth dam is
2) Elliptical in shape
b) An equipotential ne
€} The topmost fow line with 2en0 waler pressure
o) Approximatedy a parabola

Dptiona :

acnly

aand b

e and o
3%



b.candd

Question Nusber | 168 Quenasn ld @ 1550074003 Question Type : BMIOD Dpias Shulffling - Yes
Deapley Question Mumber | Yes Is Question Mandatary - Mo Celoulstor - Neme Resgesse Time:
- LA Think Timee : BLA mimum Insructsn Time :§

Correct Marks : 1 Wrong Marks :

Which one of the folleng i nol & incbion of a cross. reguistor
Dptene;
To enable effective reguiation of the canal system as

g whole

To raise the water level |n case the water level in

masin canal falls low

To controd siit entry into the off taking channel
3w

To prevent possibilities of breaches in the tall

frenches



Question Number : 185 Question Id - 1952074584 Question Type : MO Gption Shuffling : Yes
Drmpley Guestion Menber - Yes Is Guestion Mandatory - No Caloulator - Norr Besgosse Time
- BLE Thank Tiree : MUA Winimusn Inasuctisn Time ;0

Correct Marks : 1 Wrong Marks: &

Seepane through embarkments in an earthen dam & conbrofied
by

Dptions ;
Drainage filters
- |
Relef walls
Provision of downstream bemmns
1 B
Crain trenches
gL &

Question Nusber ; 170 Guevtion Id ; 1592074085 Question Type - MO Optins Fhuffing : Yes
Dimplay Question Mumber - Yes Is Question Mandstary - Mo Celeulator - Nore Resgense Tims
< BUA Thank Tiwe © NLA inimus Inseruotss Time 0

Correct Marks : 1 Wrong Markx: §
Identify ihe Rigid Dam
Dptions
Rock fill dam



Earth dam

Rock and Earth fill dam
r

Sold gravity dam

Que=stion Number : 771 Guestion Id - 1550074986 Question Type : MOG Optios Shuffling - Yes
Demplay Quwestion Mumber - Yes s Guestion Mandstory : Mo Celoulatar - Nors Bespoeae Tims
2 HLA Thisnk Tirme : NLA Mimnimusn Instructes Timse (0
Correct Marks : 1 Wrong Marks: §

Awcording to IRC recommendafions, the maomum spacing of

e Transverss expensin joinds in unreindorced concete

pavemants for & shab Mickness of 20cm should be



T m

Question Number ; 1732 Guestion 1d - 1552074987 Question Type - MO Option Shuffling - Yey
Dézpley Question Mumber : Yo e Question Mandatary - Mo Calzulstar - Nes Besgese Time
= MLA Think Time : BLA Winimum Instruction Time 0
Correct Marks: 1 Wrong Marks:

The smper sdovarion (¢) fx 75 percer devios weed (v mse: o I

kmph) B cabmlited peglecnag Snetion

Dptians :

e

Question Number ; 173 Guevtion Id : 159307408 Qusstion Type - WO Optign Shuffling : Ye
Dimpley Question Meember | Ve Iz Question Mandatary | Mo Caloudator . Ners Resgesse Time
2 MLA Thank Timee : NLA Winimus Inseruotias Time (0

Carrect Marks ; 1 Wrong Marks: &



The Calfomia besning rafio (CER| method of flexhie pavement
design gives an idea abour the
Dptions ;

. Stabiity of soil subgrade

., Shear strength of soll

Characteristics of soll

1=

- Classificafion of sod

Question Nussber : 174 Questssn Id : 1552074989 Question Tyge - MOQ Optiss ShuPfing : Tea
Dimplay Queston Mumber - Yoy 1s Question Mandatary - Mo Celoulator @ None Resposse Time
> ML& Think Tirmee : NUA Binimum Inssructss Time =0

Coarrect Madks : 1 Wrong Marka: 3
A5 per IRC the width of camageway for & beo-lane road, with
raetad kesrhie o De considenad A

Dptiona :

55m

Foam

R 2



8.0m

35m

Question Nuwber : 175 Question 1d - 1552071050 Question Type - MO Gpbos Shuffling - Yes
Depley Guestion Moenber @ Yeg In Guestion Mandatory : Mo Celculator - Nore Resgonoe Time
: HLA Thaonk Tiree : NLA linimums Insgruction Time : 0

Correct Macks : 1 Wrong Marks - §
If the Siapping Skl Disknce (550 & 150 B what will ba

the Infermediate Saght Distance (1307
Ditbsns :

400 m

150m

GO0 m

300 m

i

Question Nussber : 176 Quenaan 1d : 1552074951 Question Type - MOQ Optiss Shufling : Yea
Déspley Question Musmber © Yes Is Question Mandatary - No Calculator : None Respasse Time



2 MLA Thark Tirmes : SLE Blinimum Inssructben Time : 0

Correct Marks : 1 Wrong Marka : &
According o he IRC, super sievation balances the cenirfugal
force coiresponding io

Dptions ;

Full design speed

Half of the design speed

Theee-fourth of the design spead

3w

One-fourth of the design speed

‘l_l

Queation Number ; 177 Guestion Id - 159007408 Question Typs - M{Q Optios Shuffing - Yes
Desplay Question Mumber . Yea I Question Mandatary - Mo Celiulstor - Nene Respease Time
- BLA Thirik Timee : BLA Blinimum Instructisn Time 10

Correct Marks ; 1 Wrong Marks : &

For broad gauge brack, in Indian rafeays e sandard length of
rail is
Dptiona :

128 m



118m

10Em

138m

Question Numsiber | 178 Questisn 1d : T532074953 Question Type - MOD Optian Shulfing - Tes
Dmpley Cuestion Mumber - Yes |s Question Mandatory : No Celoulator - None Resgaese Time
= M& Thenk Tiree ;: NU& Wmimuen Inséruchen Tire : 0

Cornect Marks : 1 Wrong Maris: §
T reduca the wearing of rails, the rails are placed al a slope of

Diptione ;

Cutward 1in 20

Irvward 1 In 20

I+

irward 1 in 30

Outward 160 30



Question Nusber : 70 Queytion Id : T59207405d Question Type - MOQ Option Shuffing : Yex
Desplay Question Musmber | Yes s Question Mandaseary © Na Celeulstor @ Nome Besgasse Time
- MLA Thebrikl Tirmee : LA linimum Instructben Time @

Correct Marks ; 1 Wrong Marks: §

The number of slsepsrs used per rall lenglh on the back s
£MoWn BS

Dptiona :
Sleeper strength

2« OSleeper rati
Sleaper coafficient
Sleeper densily

@ W

Question Nusiber : 180 Questisn Id : 1552074955 Question Type - MOQ Opties ShuFfling : T
Despley Question Masmber - e 1s Queation Mandastory © Mo Celouslacor @ Nome Respasse Time
=+ L& Thwink Tirmee ; MUA Iinimum Instructisn Time ;3

Correct Madks : 1 Wrang Marka: 3

The sverage number of vehicies per day passing on & sechon of
the mad when opened o inaffic. is kndwn 83

Dptiona :



peak hour trafic

design hourdy volume

average daity traffic
R

fraffic wolurne per hour

Quesiion Number ; 181 Gueviren 1d - 150710 Question Type - MG Optos Fhuffling : Ve
Diaplay Question Mumber - Yes Iz Queation Mandstary : Mo Calslstar - Nore Rezpesae Time
2 MLA Thenk Timee ; SLA blnimum Instruotien Time ;0

Correct Marks ; 1 Wrong Marks;

A sewer & commonly desgned to aiain sef-cleansing
velocity at

Diptisns
Peak hourly rate of flow

Average hourly rate of fiow

Minimum hourly rate of flow

P



Sewer running ful
4 &

Question Number : 182 Gueytion Id : TSE0T407 Question Type - MOG Option Shuffing : Yex
Display Question Mumber | Yea s Question Mandatary - No Caleulatar - Nome Besgasse Time

= MLA Think Timee ; NUA Binimum Instruoten Time ;0
Correct Marks ; 1 Wrong Marks: 3

A 2% solution of sewage sample & kept st an incubation
temiparaturs of 20°C. If inkal DO (dissoled Quygen) and
final DO values after & days” incubakon penod are 8.5 mg/l
and 5.5 mg/L respectively, then the BOD will be

Diptians :
50 mgiL

- 150 mgiL

. 230 mgil

350 mglL

i m

Queation Number : 183 Question Id - 1552074958 Question Typs - MOQ Opties Shuffling - Yea
Despley Question Mumber : Yes Is Question Mandstary - No Cekuulator | Neme Respasse Time

- BLA Think Thrmee : MLA blinimuen Iressruciien Time 0
Correct Marka : 1 Wrong Marka: 3



in the akalindy test smount of Fret required wil
phenoiphthalen indicator is zero, I indicates

Dptiana
pH is balow B.3

L

pH I5 mare than 3.3

Neutral water

Acidic wabsr

Question Nusmiber ; 184 Guestion 1d : T¥520T4559 Question Type : MOO Option Shuffling - Tey
Dempley Question Mumber - Yes [y Tuestion Mandatory - Mo Caloulator - None Besgoese Time
= MLA Thank Tiree ; L& Mmimusn Insgructien Time : 0
Correct Mlarks: 1 Wrong Marks: §

Which one of the flowing forms of chiorine has no

disinfectant property?
Ciptions ;

Monochloraming

Hypochdorite kon



Hypachirous acid

Trichioraming

Question Nuwsber | 185 Juevtisn Id : 155007500 Question Type - WOD Optias Shufling . Yea
Displey Question Mumber - Yes 1s Question Mandatory © Mo Caloulator © None Rezpense Time
: MLA Thiink Tirmee : NUA Winimum Instruction Time ;0

Carrect Masks : 1 Wrong Marka : 3

Cholera disease is due to

Dtisns ;

Lapto Spirae

Salmonella Typhosa

Vibrio Comma

Sardia Lambia

Question Nussibser : 186 Question I : 159007500 Question Type - MO Dptiss Shuffling : Yea
Dspley Question Mamber : Yes Is Cueestion Mandatary © No Celoulator : Nome Respasse Time
+ MLA Thank Tirse ; BUA Winimum Insructien Time ;0



Correct Marks: 1 Wrong Marks: &

Which of the foliwing 565 of processes |5 a part of self-
purification of streams?

Diptions :
Satting, bio-degradation and desalination

§®

Setting, bio-degradation and aeration

I W

Floatation, ion-exchange and desalination

Cesalination, ion exchange and reverse osmosis

Question Nusiber | 187 Questisa 1d : 1552075002 Question Type - MDD Optiaa Shuffling | Yes
Denpley Question Masmber - ¥es | Question Mandatory - No Celoutator @ None Resgasse Tima:
= BL& Thiank Tirmee ; MLA Iinimums Instruction Time ; §

Correct Mlarks : 1 Wrang Marks: §

Comosion of concrefe sewers ocours due o
Dptions ;

High veldocity of fion in sewers



Anaerobic decomposifions of sewage solids

Aarobic decompositions of sswage solids

High pH value of the sewage

Question Nwwber : 188 Guertion 1d ; 1580075003 Question Type - BT Option Shuffing : Yex
[empley Question Number - Yes In Guemtion Mandstory : Mo Celculstor - Nors Bevpoeae Tims:
2 HLA Thisnk Tirme : NLA Mimnimusn Instructes Timse (0

Correct Marks : 1 Wrong Marks: §



Mach Let- | [Vaves) wilh List- B (Lses) and sslact e
COPEC! BRSwer USg 1e COTES §ivan below e Ists

List- | Lest- 0l

| A | Sulce 1. Used where gravity fiow is required
vale | through pipe line

'B.|Check |2 Used %o maintain constant level of
vaha Wl

CAr miet| 3 | Used for reversal of low
vahe

B[ Bailvaive |4 | Used for isciaing

1-A|28 |3.C[4.D

3-A (4B 1€/ 2D




1-4 38 2C 4D

4-4 38 |1-C|2D

Queation Number : 1680 Gueritson 1d - 155007500 Question Type - WO Dptios Shuffling : Vea
Despley Question Murmber - ¥ea I3 Question Mandatary : Mo Celoulator . Mot Respesse Time
- MLA Think Timee : BLA ilinimum Instruction Times ;0

Carrect Marks : 1 Wrong Marka : B



The pogidation figure m a growing town ane as Tolows:

ear Populason
1570 40000
1880 46,000
15850 53.000
2000 58000

The predicied population in 2010 by Anthmatic Rearassion
mathad =
Dptiona :

62,000

63.000

24, 000



65,000

Queation Numsber ; 100 Qusstion Id : 1500075005 Question Type : MOQ Option Shuffling : Yem
Despley Queestian Musnber - Yea I3 Question Mandatory : Mo Celeulatss - Nome Besgaase Time
- LA Thenik Tirmee 2 MLA Binimum Instructien Times 10

Correct Madks : 1 Wrang Marka : §

What is e pH value of polable water, as specified by 15
456:20007

Ciptions :

Equalioc 7

Between 8 and 10

[ ¥

Eefwean 3 and &

e
-

kot hess than &

i+

Quzstion Numiber ;191 Questisn 1d @ 952075008 Question Type - MOD Optios Shuffling : Yes
mpley Question Mwmber : Yes 1s Question Mandatory : Mo Celoulator : None Respaese Time
= ML Think Tire ; MUA Wimimus Instruction Time ;0

Correct Marks : 1 Weong Marks : 3



A type of bond in & brick masonry in which each course
consisis of alternate headers and sirefches, is called

Dptions :
) English bond
siretching bond
Fiemish bond
3 &
heading bond
i w

DQuestion Nusiber : 192 Question Id : 1552075007 Question Tyge - MOQ Optian Shuffling : Yex
[mplEy Queston Mamber : Yes | Guestion Mandsimry - No Calculator : Nore Resgosse Timas
= LA Thank Tirme : AL bmimum Instructizn Time ; 0

Correct Marks 1 Wrong Marks : §

Thaﬂnrulnmwm CEMEn! SILy s knovwn a8
Ciptions ;

Coping

Beam filing



Gunniting

GErowting

i

Queation Nosber : 197 Question 1d - 159207500 Question Type - MO Option Shufing : Yo
Duspley Queestion Musnber - Yes Is Gusstion Mandasary . Mo Celeulstnr : Neme Resgesse Time
T BLA Think Timee : BLA Blinimum Insaruction Time : 0

Carrect Masks : 1 Wrong Marka : 3
The sikcious sandsione which has been subjectad 1o
metamophic sciion

Dptions

Cluarizie

§ w'

Dalomite

Laterite

(1]

Fankar

Question Nusiber | 194 Question Id : 15992075008 Question Type - MO Dptiss Shuffling : Yea
Dspley Queston Mumber : Yes 1s Question Mandatory © Mo Calculator @ None Respasse Time
7ML Thank Tirme : BUA Winimum Instructen Time ;0



Correct Marks: 1 Wrong Marks: &
Gnelss |s chemicalty classified as

Diptions :

: Calkareous mock

Argillaceous rock

.. Silicious rock

Metamarphic rock

i®

Question Number : 105 Juevison Id - 1550075010 Question Type - MG Optien Fhuffliing : Yex
Dizplay Question Mumber : Yes Ia Question Mandatory - Mo Celculstor : Ners Beipesse Tims
< HLA ThaRk Tirme : NUA Winimus Instructees Time | 0

Carrect Marks : 1 Wrong Marks - &
The comprestive strengih of second-class brcks should
riot be less than
Optiona :
8.5 MN/m=

6.5 Mh/m*



Lo BEMNM

7.5 MKNm?

i

Question Numiser | 196 Question 1d : 1552075011 Question Type - MOQ Optiss Shullling - Yes
Displey Question Mumber © Yes 1s Question Mandatory : Mo Celculator - Nome Respense Time
= MLA Thimk Tire : SLS mimums Instructisn Time ;0

Coarrect Marks : 1 Wrong Marks: 3

Le-chateler methad IS used 10 determine
Diptiony ;

Fineness of cemant

Soundness of cement

Strength of cement

Consistency of cement

Question Number ; 107 Quevtion 1d ; 1900075012 Question Type : MOG Option Fhuffling : Ye
Déaplay Queation Nuwmber : Yes Is Cusmation Mandatory © No Calculstor - Nors Besposas Time



: MLA Theank Tirmee : LA Blinimum Inssructen Time ;G
Correct Marks : 1 Wrong Marka : &

The defect caused by imperfect seasoning s callad

Honey combing

Rind gall

Queation Number ; 198 Quesison Id - TS0075011 Question Type - MIOG Optica Shuffling : Ve
Desplay Question Musnber . Yea Is Question Mandseary | No Celeudsenr @ Mere Resgesse Time
< LA Think Timee : BLA Blinimum Instruction Time 10

Correct Marks : 1 Wrong Marks : B
The wood generally used for raibvay slespers is
Diptions ;

Mesm

Kl



Dacdar

Babul

Question Numiber : 198 Quection Id - 1952075074 Question Tyge - MO Gption Shuffling : Yes
Dapluy Dustion Mwmber : Yeu In Cusmtion Mandstory © Mo Celoolator : Nors Bvspoeas Tims
= MLA Thank Tirmes : NLA Bmnimue Instruotes Tims 10

Correct Macks : 1 Wrong Marks - §

Which type of cemenl s recommanded in large mass
cancrefe works such &s dam?

Dt :

Low heat cement

§ oW

High alumina cement
&

Ordinary portiand cement

Rapéd hardening cemeni



Question Number : 200 Question Id - 1522073013 Question Type - MO Optios Shuffling : Yes
Trspley Chorstion Mssmber - Yo by Cuestion Mandatary : No Caloulator - Normr RBesgemse Time
: HLA Thank Tiree : NLA Wfinimusn Instructisn Time : 0

Correct Marks : 1 Wrong Marks: &

Which of the following shows comect decreasing order of
rate of hydration of portiand cement compounds

Options :

. s CoBCah>CaS=CaAF

Cah >CaAF>Cs5 =G5
CaAF> CA =05 » 05

1 E

CuAF > CoA >Ca »Co8

i



